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Question Number : 1 Question Id : 9277597297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the CORRECT alternative from the given ones that will complete the series.

JG, LH, NI, PJ, RK, ?
Options :
1. % SL
2. TL
3. % SM
4. % ™™



Question Number : 1 Question Id : 9277597297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fgepd fear T 8, o 4 ud ue g ¢ | AU Y fawed! & & 98 98t fadwed g, St Sfhd &1 [T H1

JG, LH, NI, PJ, RK, ?
Options :

1. = SL

2.¥ TL

3. * SM

4. % ™™

Question Number : 2 Question Id : 9277597298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that WRONG term from the given alternatives.

SNF, UQL, WTN, YWR, AZV
Options :

1. % SNF

2. ¥ UQL

3. % WIN

4. % AZV

Question Number : 2 Question Id : 9277597298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A a1 a1 &, Foras @ Ueb U Terd 3 | U U fasbedl # ¥ 39 Terd ug &1 gMu|

SNF, UQL, WTN, YWR, AZV
Options :
1. ¥ SNF
2. % UQL



3. % WTIN
4. = AZV

Question Number : 3 Question Id : 9277597299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. % XT

2. % LH

3. % QM

4. ¥ VS

Question Number : 3 Question Id : 9277597299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad uy o fau e fased! & 4 faww ser/siarl o1 gl
Options :

1. ® XT

2. % LH

3. % QM

4. ¥ VS

Question Number : 4 Question Id : 9277597300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

CN:FK:PV:?
Options :

1. = US

2. ¥ SS



3. * RS
4. = SU

Question Number : 4 Question Id : 9277597300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad oy & fou 7o fowed! & @ Sefda sieri &1 gl

CN:FK:PV:?
Options :

1. % US

2.¥ SS

3. % RS

4. % SU

Question Number : 5 Question Id : 9277597301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

DVXJ : HADG :: PQUB : ?
Options :

1. ® TVAX

2. % RUAX

3. * RUBY

4. ¥ TVAY

Question Number : 5 Question Id : 9277597301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferiad we o fau e fawedt & § Iefia sieri &1 gi-a|

DVXJ: HADG :: PQUB : ?



Options :

1. * TVAX
2. % RUAX
3. # RUBY
4. ¥ TVAY

Question Number : 6 Question Id : 9277597302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘EARTH? is written as ‘5°, ‘CHLORINE’ is written as ‘8’. What is the code for ‘MAGNETISM’ in that code
language?

Options :

1. %7

2. % 8

3.9

4. % 10

Question Number : 6 Question Id : 9277597302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR BIS YW &, ‘EARTH’ &1 5 foraT ST 8, ‘CHLORINE® 1 *8° Toran ST ¢ | St 1S UTST H ‘MAGNETISM’ &1 B8 &1 82
Options :

1. %7

2. % 8

3.9

4. % 10

Question Number : 7 Question Id : 9277597303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘“Where do I walk’ is written as ‘@ # ( $’, “You should walk daily’ is written as ‘% & * #’, ‘I hate you’ is written as ‘*
@ &’. What is the code for ‘should hate daily’ in that code language?



Options :

1. ¥ A * 0%
2. % M %
3.% * &N
4. % #@"

Question Number : 7 Question Id : 9277597303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fARRP HIS U H, “Where do I walk’ 1 @ # ( $* fIRaT ST 8, “You should walk daily’ &Y % & * # foRaT SIIAT B, “I hate you’ &I » @
& forar ST 8 1 S HIS U H “should hate daily’ BT HIS T 82

Options :

1. & A *0
2. % M %
3.% K&
4. % #@"

Question Number : 8 Question Id : 9277597304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons A, B, C, D and E sit in a straight line facing towards the north (not necessarily in the same order). C sits third to the right of D. One
person sits between A and C. B sits second to the left of E. Who sits in the middle of the line?

Options :
1. % A
2.¥B
3. % C
4. % E

Question Number : 8 Question Id : 9277597304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ofg fad A, B, C, D TYT E T Tieh 38T H IR P 3R T TRPb 964 & (ReS] gl 1 36 HH A 81| C, D B 3 3R I iR R”_IFM |
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Options :

1. % A

2.V B

3.% C

4. % E

Question Number : 9 Question Id : 9277597305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of five members is to be selected among eight members A, B, C, D, E, F, G and H. A and G have to be selected together. C and H have to
be selected together. B and E cannot be selected together. G and F cannot be selected together. Which of the following members can be selected?

Options :

1. * BCDEH
2. % ABCDG
3. ¥ ABDEG
4. ¥ BCDFH

Question Number : 9 Question Id : 9277597305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3B UG A, B, C, D, E, F, GAUTH H I Ufd Y&l B Uh CH B T8 | A TUTG BT UH WY AT &1 C TUTH I U WY T 81 B
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Options :

1. # BCDEH

2. % ABCDG

3. # ABDEG

4. ¥ BCDFH

Question Number : 10 Question Id : 9277597306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements :
I. All A are B.
II. Some B are C.

Conclusions :
I. Some C are A.
II. All B are A.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. * Both conclusion I and II follows

4. # Neither conclusion follows

Question Number : 10 Question Id : 9277597306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % pacl ey [ 3TIRU BT 7
2. % Had [SHY 11 IR0 Hl &



3. % QIFI S 1 T 11 3FIRRUT X &
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Question Number : 11 Question Id : 9277597307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements :

I. All F are M.
II. Al M are T.

Conclusions :

I. AlF are T.
II. Some M are F.
III. Some T are F.

Options :

1. # Both conclusion I and II follows
2. % Only conclusion III follows

3. * Only conclusion II follows

4. % All conclusion follows

Question Number : 11 Question Id : 9277597307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Q! FT5BY 1 YT 11 3FIERU $Hd &
2. % Had By 111 SRR Hal §

3. % PHad T5HY 11 3{IER0 Bl §

4. ¢ T Frep e SR R §

Question Number : 12 Question Id : 9277597308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

45, 82, 119, 156, ?
Options :
1. % 184
2. % 183
3.9 193
4. % 194

Question Number : 12 Question Id : 9277597308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiaa oy & <t 1S Y@e ¥ A g 3f J1d Fifo|

45, 82,119, 156, ?
Options :
1. % 184




2. % 183
3.4 193
4. % 194

Question Number : 13 Question Id : 9277597309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

6, 12, 24, 30, 60, 66, ?
Options :

1. % 72

2. % 78

3.9 132

4. % 122

Question Number : 13 Question Id : 9277597309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad oy & <t 7S Yae & I qu 3f I Hifor|

6, 12, 24, 30, 60, 66, ?
Options :

1. = 72

2. % 78

3.4 132

4. = 122

Question Number : 14 Question Id : 9277597310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many cows are fox?

i '6%3 Fox

O

Cow
Options :
1. %8
2. % 25
3.9 33
4. ® 35

Question Number : 14 Question Id : 9277597310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fareer ﬁ A
AT
Options :
1. %8
2. % 25
3.9 33

4, % 35



Question Number : 15 Question Id : 9277597311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tarun walks 8 km towards the north. He turns to the left and walks 10 km. He again turns to the left and walks 8 km. In which direction is he now
from the starting point?

Options :
1. # East
2. ¥ West
3. # North-East
4. % South-East

Question Number : 15 Question Id : 9277597311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qd

2. ¢ Uigg

3. % IW-Ud

4. % cléurgd

Question Number : 16 Question Id : 9277597312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Point A is 4 metres west of point B. Point C is 3 metres south of point B. Point D is 4 metres east of point C. Point E is 9 metres north of point D.
How far and in which direction is point E from point A?

Options :

1. # 12 metre, North-East
2. % 12 metre, South-West
3. ¥ 10 metre, North-East
4. # 10 metre, South-West



Question Number : 16 Question Id : 9277597312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

figAfigB R4 uimagIfigc g3 dir R A gIfSgpfag c T4 M d AR I g Efig DA 9 MRS AGI g E
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Options :

1. % 12 TR, SR-Qd

2. % 12 Hier, afemrufgm

3. ¥ 10 TR, SR-gd

4. % 10 Hic, igoruigy

Question Number : 17 Question Id : 9277597313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives.

T\«(—gf‘?

Options :

2.¥




i

Question Number : 17 Question Id : 9277597313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaf@a gea & 4T 717 Reedt A @ voa g (2) & T W 3= T Al @ gfaw)
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Options :

1. % $
¢

2.

3. ® §

4, % ﬁgz




Question Number : 18 Question Id : 9277597314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure/figures on

the right of (::) from the given alternatives based on the same logic/rule/relation.

=y = |/ 2o ST @ ”
[ W) o« S]] - :
Options :

<3

wm
1. v

W

=418

&

WE
H=

Question Number : 18 Question Id : 9277597314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 19 Question Id : 9277597315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

-
’P

A—ceeooeeeee B
Options :

]
35
Qg |2

1. %
]
25
9y |0

2. %
D
%
Qg |9

3. %
D
3]
Qg |2

4. ¢

Question Number : 19 Question Id : 9277597315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IfE T gUUT & AB Y@M TR TW@T AT, df & 75 3cal HHfadl # ¥ Hid O HFT T Hpia H1 Far
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-
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Options :

]
35
Qg |2

1. %
]
25
9y |0

2. %
D
%
Qg |9

3. %
D
3]
Qg |2

4. ¢

Question Number : 20 Question Id : 9277597316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many triangles are there in the given figure?

=]

Options :
1. %6
2. % 7
3.¥°8
4. % 10

Question Number : 20 Question Id : 9277597316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& & T F foraer Fager &7

il

Options :
1. % 6
2. % 7
3.¥°8
4. % 10



General Awareness

Group Number : 2

Group Id : 927759262

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Awareness

Section Id : 927759288

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759341

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277597317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gulbarga fort is situated in which state of India?
Options :

1. # Andhra Pradesh



2. * Tamil Nadu
3. " Karnataka
4. % Kerala

Question Number : 21 Question Id : 9277597317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT e YR & o o 7 Ry 82
Options :

1. % offy U=

2. % qeArg

3. ¥ BHICH

4. % A

Question Number : 22 Question Id : 9277597318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of regional music — state is CORRECT?

I. Lotia — Rajasthan
II. Laman — Himachal Pradesh

Options :

1. * Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 22 Question Id : 9277597318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. Afear — oI
1. 99 - fRarae e
Options :

1. % Had 1
2. % HAdII
3. ¢ 1 AU Gl
4. % A A

Question Number : 23 Question Id : 9277597319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The special case of oligopoly where there are exactly two sellers is called
Options :

1. ¥ Duopoly

2. # Monopolistic Competition

3. ¥ Monopoly

4. # Perfect Competition

Question Number : 23 Question Id : 9277597319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISR B! T AR fRufer foras Faat &l fashar g1 8 39 FEd gl
Options :

1. ¢ fg-3ifIeRr

2. % TDHYHRI gfaegyf

3. % THIMUBR

4. % Ui gfaegef

Question Number : 24 Question Id : 9277597320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is a monetary policy instrument of Reserve Bank of India?

I. Liquidity Adjustment Facility
II. Minimum Selling Price

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 24 Question Id : 9277597320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafeed # @ B yRdla Refd s Bt Hifae ifd B e farad 8
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Options :

1. ¥ Hadl

2. % Had Il

3. % [qUT el
4. % FrAIATA

Question Number : 25 Question Id : 9277597321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human body works within the pH range of to
Options :

1. % 6;6.8

2.9 778

3. % 8,85

4. % 4;5




Question Number : 25 Question Id : 9277597321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 IRR | pH & &I S FaT g |
Options :

1. ® 6;6.8

2.¥7,7.8

3. % 8,85

4. ® 4;5

Question Number : 26 Question Id : 9277597322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following disease is NOT caused by virus?
Options :

1. ¥ Common cold

2. # Influenza

3. # Dengue fever

4. ¥ Typhoid fever

Question Number : 26 Question Id : 9277597322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafrfed & & i a1 I fawy] gRT =16y il 82
Options :

1. % Qrt-gem

2. % SUIUST

3. % STYER

4. ¥ TAGITE ER



Question Number : 27 Question Id : 9277597323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT?

I. Potassium and sodium react violently with cold water.
II. Aqua regia is a highly corrosive fuming liquid.
Options :

1. % Only I

2. % Only II

3. ¥ Both I and II

4. % Neither I nor II

Question Number : 27 Question Id : 9277597323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead & ¥ o9 91 By agt 82
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Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. ® A A

Question Number : 28 Question Id : 9277597324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a freshwater lake?
Options :

1. % Dal Lake

2. % Loktak Lake



3. % Barapani Lake
4. ¥ Sambhar Lake

Question Number : 28 Question Id : 9277597324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 29 Question Id : 9277597325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
India shares its land boundaries with and in the north-west.

Options :

1. ¥ Pakistan; Afghanistan
2. % Pakistan; China

3. # Nepal; Bhutan

4. % Myanmar; Bangladesh

Question Number : 29 Question Id : 9277597325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA ITR-UFT 4 3R o AT SO YA AT I Rl g
Options :

1. ¢ Ui, I

2. % gifehdr; A

3. % 9UTd; YT




4. ¥ TR, dI7d =Ry

Question Number : 30 Question Id : 9277597326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The oldest veda is

Options :

1. ¥ Rigveda

2. # Samaveda

3. % Yajurveda

4. # Atharvaveda

Question Number : 30 Question Id : 9277597326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TGO RATIG gl

Options :

1. ¥ G

2. % HHdq

3. % ogdq

4. % 3{Ydde

Question Number : 31 Question Id : 9277597327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Vasco da Gama came to India?
Options :

1. ¥ 1498

2. % 1496

3. % 1492

4. % 1495



Question Number : 31 Question Id : 9277597327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A1 St AT HRA H b a9 3fram o2
Options :
1. ¥ 1498
2. % 1496
3. % 1492
4. % 1495

Question Number : 32 Question Id : 9277597328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Banabhatta was a court poet of

Options :

1. # Samudragupta

2. ¥ Harshavardhan

3. # Chandragupta

4. % Ashok

Question Number : 32 Question Id : 9277597328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qIUIYE & WRARI Hid V|
Options :

1%

2. ¥ gYaYA

3. % T

4. % 3Meb



Question Number : 33 Question Id : 9277597329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT?

I. Cotton was probably grown at Mehrgarh from about 7000 years ago.
II. The Harappans made seals out of stone.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 33 Question Id : 9277597329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead & ¥ o9 91 By agt 82

. §Yad: 7000 TY Ugel BeXTe U HUR &1 Wat gt A
I, TSI Gl b ANT TR P g&x §1d U |

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I

Question Number : 34 Question Id : 9277597330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In September 2020, which country has appointed the former Australian Prime Minister Tony Abbott as a trade advisor?
Options :

1. ¥ United Kingdom

2. % United States of America



3. #* China

4. * France

Question Number : 34 Question Id : 9277597330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrdeR 2020 &, fpe =17 Sifeefern & gd wemwst S Tale & TR JaeeR Hged farar g2
Options :

1. ¢ T3S fhied

2. % Y Iy SHRBT

3. % T

4. % 1Y

Question Number : 35 Question Id : 9277597331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is a transgender awardee of Padma Shri in 2021?
Options :

1. ¥ Matha B. Manjamma Jogati

2. # Prithika Yashini

3. % Nadia Almada

4. % Laxmi Narayan Tripathi

Question Number : 35 Question Id : 9277597331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 & 2021 T U1 4 &1 T gAoier REBR faoidl 82

Options :
1. « TYT o, HHHT Sl
2. % Gy FfRML

3. % F1iGAT feHTST




4. % & ARG FAUTSt

Question Number : 36 Question Id : 9277597332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related with equality of opportunity in matters of public employment?
Options :

1. % Article 13

2. % Article 12

3. ¥ Article 16

4. % Article 17

Question Number : 36 Question Id : 9277597332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WA BT DI T T3¢ Al Ao P v H 3awR 1 JHdT § Fafid 32

Options :

1. % 3F®q 13
2. % 3G 12
3. ¥ TG 16
4. % 3TR9G 17

Question Number : 37 Question Id : 9277597333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT regarding the Indian constitution?

I. Constitution of India came into force on 26 January 1949.
I1. Article 74(1) of the Indian constitution provides that there shall be a council of Ministers with Prime Minister as its head to aid and advice the
president.

Options :
1. % Only I



2. % Only II
3. ®* BothIand II
4. % Neither [ nor 11

Question Number : 37 Question Id : 9277597333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 o 91 oy YR dfdy™ & de 7 agl g2

. 26 STARY 1949 BT YR BT WA U g |

IL uﬂfcﬂuair;[ﬁ%rﬁé?313%?:74(1)ﬁwmm%%wﬁﬁmmﬁawaﬁméﬁ%%uwmﬁwmw%@
gYTTHA g |

Options :

1. % had I

2. ¢ Had II

3. % [ QYT

4. % IGIIATR I

Question Number : 38 Question Id : 9277597334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the first Indian to win an individual gold medal in the Olympics?
Options :

1. % Neeraj Chopra

2. % Abhinav Bindra

3. % Marry Kom

4. % K.D. Jadhav

Question Number : 38 Question Id : 9277597334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad § ¥ oF sl A safeard Tl uee Siiam ard ugd WRdT 82




Options :

1. % IR AUsT
2. ¢ AT foraT
3. % WP

4. % &8l SYd

Question Number : 39 Question Id : 9277597335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lovlina Borgohain is associated with which sports?
Options :

1. # Javelin Throw

2. ¥ Boxing

3. % Football

4. # Table Tennis

Question Number : 39 Question Id : 9277597335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT IR o B A Taifdra &2
Options :

1. % Safer o
2.« GahaToll
3. % Godld

4. % ¢gd g

Question Number : 40 Question Id : 9277597336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which country will host the 2032 Summer Olympic games?
Options :



1. ¥ Australia

2. % South Africa

3. % United States of America
4. # China

Question Number : 40 Question Id : 9277597336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2032 FHBTA 3Nt Well Bt ASTE B T S B

Options :
1. ¢ Scfer
2. % Gf&fUT 3MThIehT
3. % Yo ST SARBT
4. % 9
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Group Number : 3
Group Id : 927759263
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Sub-Section Id : 927759342
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277597337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of %—1%—% 2

Options :
19

4
1. # 24

Question Number : 41 Question Id : 9277597337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2%—1%—2% T AT FT g7



Options :

19

4

1. % 24
19

("

2w 24
23

4=

3 24
23

("

4.4 24

Question Number : 42 Question Id : 9277597338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the sum of a number and its square is 210, then what is the number?
Options :

1. % 13

2.% 14

3. % 12

4. % 11

Question Number : 42 Question Id : 9277597338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T T-AT AYT ST I BT AT 210 @, Al I I T 52
Options :

1. % 13

2.¥ 14

3.% 12




4. % 11

Question Number : 43 Question Id : 9277597339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of five numbers is 45. If 4 is subtracted from each number, then what will be the new average?
Options :

1. % 40

2.9 4]

3. % 49

4, % 425

Question Number : 43 Question Id : 9277597339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui T3t T 3Nd 45 B TS TP TATH A 4 1 9T SI1dT 8, ol =747 39d &1 812
Options :

1. % 40

2.9¥ 41

3. % 49

4, % 425

Question Number : 44 Question Id : 9277597340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cost price of a fan is Rs. 3200. After giving a discount of 30 percent, it is sold at a profit of 75 percent. Marked price is how much percent more
than the cost price?

Options :

1. # 50 percent
2. % 120 percent
3. % 125 percent
4. ¥ 150 percent



Question Number : 44 Question Id : 9277597340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q&%%i%mm@szoom% 30 TFA=Td B BT o & UYTq 39 75 Uia=id & A1 IR o1 T ] | 3ifohd Jed, o Yo o favaT ufa=ra
?

Options :

1. % 50 gfc=rd
2. % 120 Ufa=rd
3. % 125 gfawrd
4. ¥ 150 gfa=rd

Question Number : 45 Question Id : 9277597341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number is increased by 15 percent. If number become 713 after increment, then what was the original number?
Options :

1. % 628

2. % 606

3. ¥ 620

4. % 614

Question Number : 45 Question Id : 9277597341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T &1 15 UfIId | S 71 ¢ | TfS Sias! o UTd TReAT 713 B il &, ol aRafad gt & off
Options :

1. % 628

2. % 606

3. ¥ 620

4. % 614




Question Number : 46 Question Id : 9277597342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Income of Suraj is 45 percent more than income of Manoj and Income of Suraj is 10 percent less than the income of Vishal. If Vishal’s income is
Rs. 29000, then what is the income of Manoj?

Options :

1. ¥ Rs. 18000
2. % Rs. 21000
3. % Rs. 20400
4. % Rs. 14355

Question Number : 46 Question Id : 9277597342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS B AT TS B TG 45 TR 31fAes g TUT G 1 31 fawna ot 3ma 10 Ufawrd &4 g1 3fe fa=ma &1 3m 29000 ¥4 &, Y
TS BT 3119 1 ]2

Options :

1. ¢ 18000 3T
2. % 21000 3T
3. % 20400 3T
4. % 14355309

Question Number : 47 Question Id : 9277597343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selling price and cost price of a table are Rs. 5664 and Rs. 4800 respectively. What is the profit percentage?
Options :

1. # 22 percent

2. % 18 percent

3. % 16 percent

4. % 15 percent



Question Number : 47 Question Id : 9277597343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ol & faeha T TUT 50 T HHRT: 5664 ST TUT 4800 T g | ATH UTI=Id 1 82
Options :

1. % 22 gfard
2. ¢ 18 Ufaid
3. % 16 Ufad
4. % 15 gfazrd

Question Number : 48 Question Id : 9277597344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bag is sold at a loss of 10 percent. If it had been sold for Rs. 3360 more, then there would be a profit of 20 percent with respect to the selling
price. What was the original selling price?

Options :

1. % Rs. 10080
2. % Rs. 9850
3. % Rs. 11200
4. ¥ Rs. 8640

Question Number : 48 Question Id : 9277597344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 1 10 UTIRId P BT WR S A1 ] | A T 3360 T 31fees TR o1 7101 §iall, ot faehd Jeg & Tad & @1y 20 ufa<ra grm|
JRAfde fashd God T U1

Options :

1. % 10080 3T

2. % 9850 TYY

3. % 11200 304

4. ¥ 8640 3UY




Question Number : 49 Question Id : 9277597345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X:Y=3:51f Y — X =858, then what is the value of (X +Y)?
Options :

1. ¥ 3432

2. % 2872

3. % 2454

4. % 2216

Question Number : 49 Question Id : 9277597345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X:Y=3:53@y_X=858%, Al (X+Y) B A HTG?
Options :

1. ¥ 3432

2. % 2872

3. % 2454

4. % 2216

Question Number : 50 Question Id : 9277597346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Incomes of Kushal and Dinesh is 5 : 8 respectively. Kushal’s income is increased by Rs. 5000 and the ratio of income of Kushal and Dinesh
becomes 3 : 4. What is the income of Dinesh?

Options :

1. ¥ Rs. 32000
2. % Rs. 36000
3. % Rs. 38000
4. ¥ Rs. 40000

Question Number : 50 Question Id : 9277597346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TUT AR BT 31T T U 5 : 8 B 1 BT P 3T DI 5000 FUY J TG 7T & TUT HRTE 37R G BT 3T BT 3T 3 - 4 B STl
%ﬁﬁmﬁ&mw%?

Options :

1. % 32000 30
2. % 36000 3T
3. % 38000 ¥UY
4. ¥ 40000 3T

Question Number : 51 Question Id : 9277597347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 63000 is lent at the rate of simple interest. If the rate of interest i1s 12 percent per annum, then what will be interest for three years?
Options :

1. # Rs. 24560

2. % Rs. 23320

3. % Rs. 22680

4. % Rs. 20400

Question Number : 51 Question Id : 9277597347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 63000 ST P MR DI JTYRUT TS 1 R F IYR a1 a1 3 | IS uret &1 &= 12 ufaerd ufad a8 8, o 3 auf & forg saret o ghme
Options :

1. % 24560 3T

2. % 23320300

3. ¢ 22680 3T

4. % 20400 304

Question Number : 52 Question Id : 9277597348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Simple interest on a sum is Rs. 36900 for 3 years at the rate of 15 percent per annum. What will be the compound interest (compounding
annually) on the same sum at the rate of 20 percent per annum for three years?

Options :

1. ¥ Rs. 59696
2. % Rs. 62146
3. % Rs. 64236
4, % Rs. 65912

Question Number : 52 Question Id : 9277597348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP IR TR 15 Ufawra ufd oo o1 aX F 3 I & fofT TR SATS 36900 T © 1 A TR TR 20 Ufawrd ufd avf ot X J i+ auf & forw
Thgfa STl (AT TGISH UR) -1 gRTT?

Options :

1. ¢ 59696 3T

2. % 62146 3T

3. % 64236900

4. % 65912 307

Question Number : 53 Question Id : 9277597349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speed of a car is 10 metre/second. How much time will it take to cover a distance of 126 km?
Options :

1. % 3 hours 30 minutes

2. # 4 hours

3. % 7 hours

4. % 8 hours 40 minutes

Question Number : 53 Question Id : 9277597349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP HR BI T 10 MeRASS g1 TH 126 fob .1t 31 g8 ) 99 a3 g fpan gag afl
Options :

1. ¢ 39¢ 30 e

2. % 4Y¢

3. % 74¢

4. % g¥c 40 fie

Question Number : 54 Question Id : 9277597350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat can cover a distance of 56 km downstream in 4 hours. If the speed of stream is 2 km/hr, then how much time will it take to cover the same
distance in upstream?

Options :

1. # 4 hours 40 minutes
2. # 5 hours 16 minutes
3. % 6 hours

4. % 5 hours 36 minutes

Question Number : 54 Question Id : 9277597350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 19 YRT & 35 56 . 1. BT TH G DI I B | 4 °S it o | Al URT Bt 7R 2 o Y /dfeT 8, 0 T0H g &l U1 &6 Ufddd ad
DR | g fba-1 gug o

Options :
1. % 479¢ 40 e
2. % 54¢ 16 e
3. % 6HC
4. 59 36 e



Question Number : 55 Question Id : 9277597351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mohit alone can complete a work in 60 days. Rohit and Mohit together can complete the same work in 12 days. Rohit alone can complete the
same work in how many days?

Options :

1. % 14 days
2. ¥ 15 days
3. # 16 days
4. % 18 days

Question Number : 55 Question Id : 9277597351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT bl Th BT & 60 fod H T AR Toba g | ATed IUT Aifgd FHdHm: THH S & 12 I3 § R Tohd § | AT Sibar o &1
&1 foran I B 1 R ATl 52

Options :

1. % 1437

2. ¢ 15feA

3. % 16faA

4. % 1837

Question Number : 56 Question Id : 9277597352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y is 5 times as efficient as X. Z is 4 times as efficient as X. Y can complete a work in 144 days less than the days taken by X. In how many days
X, Y and Z together can complete the same work?

Options :

1. # 12 days
2. # 15 days
3. ¥ 18 days
4. # 24 days



Question Number : 56 Question Id : 9277597352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y, X P15 TN HRGRA G| Z, X B4 T HRIGIA 6| Y Th B I X gRITU T AT 144 A FA T R IR THaATR 1 X, Y AU Z
JAHE &1 B! [ fod & 1 R Tahd 82

Options :

1. % 12feq
2. % 15feq
3.¢ 18 feA
4. % 24f&F

Question Number : 57 Question Id : 9277597353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the total surface area of a hemisphere of radius 14 cm?
Options :

1. % 1232 cm?

2. % 1748 cm?

3. ¢ 1848 cm?

4. % 2464 cm?

Question Number : 57 Question Id : 9277597353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

14 9.1}, B0 are U Siefiicl &1 $df g & d o1 82
Options :

1. % 1232 9912
2. % 17483 4.1 2
3. ¢ 1848 Q.11 2
4. % 2464 A2



Question Number : 58 Question Id : 9277597354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of bottles manufactured by company X in the vears 2001 to 2008.

Years Number of bottles
2001 14030
2002 12800
2003 16600
2004 15200
2005 17500
2005 14500
2007 15000
2008 21000

The number of bottles manufactures in 2008 is how much more than the average number of bottles manufactured from
the years 2001 to 20077

Options :

1. # 5620

2. % 4780

3.9 5910

4. % 4580

Question Number : 58 Question Id : 9277597354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=T &1 a1 arforeRr I 2001 & 2008 T FUaT X ganr AT Fr o siget o 5T # e g

a¥ dicrell 1 e
2001 14030
2002 12800
2003 16600
2004 15200
2005 17500
2006 14500
2007 15000
2008 21000

2008 # fAffAa Fr i aiget $Fr FE=Tr, 39 2001 ¥ 2007 FF FFAT Fr 720 Sigat Fr dwag FEm ¥
fraar 319w &2

Options :

1. ¥ 5620

2. % 4780

3. % 5910

4. % 4580

Question Number : 59 Question Id : 9277597355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given line chart shows the number of runs scored in 5 different matches M1, M2, M3, M4 and M5 by a batsman.

150
120

70

35 an

M1 M2 M3 4 M3

Total number of runs scored in match M1 and MS5 together is how much percent more than the runs scored in match
M2?

Options :

1. #® 66.66 percent

2. ¥ 83.33 percent

3. # 73.66 percent

4. % 87.33 percent

Question Number : 59 Question Id : 9277597355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e s @ ™ v seoes @Rr 5 Bf@es #=F M1, M2, M3, M4 FuT M5 & SATT 1T &1
HEIT &1 goffar §

150
120

70

33 30

M1 M2 M3 (B M3

M1 FaT M5 #=r & fAee 91T 31T Fol I, M2 #9 & ¢ 710 & & foraar wfaera afoes 82
Options :

1. % 66.66 Ufd2rd

2. ¢ 83.33 Ufa=rd

3. % 73.66 Ufa=Id

4. % 8733 Ufard

Question Number : 60 Question Id : 9277597356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph given below shows the rainfall (in cm) recorded in a given week.

17.5
15.2 [ 15.2 135 14.3 15.4
] 123 [ | ]
S N S N
¢ & & & > &
< A Q'S\‘ 4::':} op o
5

In how many days of the week the rainfall is more than the average rainfall of the week?
Options :

1.¥3

2. %2

3. % 4

4. %5

Question Number : 60 Question Id : 9277597356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Arr & 773 gus =T fGv 977 goae # &= &7 Y as7 (A H) & g2 g

17.5
- 16.5
15.2 152 oo gy 134

123 [ |

FELLEPE
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Options :
1.¥3
2. %2
3.% 4
4. %5
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Group Id : 927759264
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Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 927759343
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9277597357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

A majority impetus was / rapid urbanization during / the Industrial Revolution. / No error
Options :

1. ¥ A majority impetus was

2. % rapid urbanization during

3. * the Industrial Revolution.

4. % No error

Question Number : 61 Question Id : 9277597357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

A majority impetus was / rapid urbanization during / the Industrial Revolution. / No error



Options :

1. ¥ A majority impetus was
2. % rapid urbanization during
3. # the Industrial Revolution.

4. % No error

Question Number : 62 Question Id : 9277597358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Sometimes anger /can motivate us /to work hardest. / No error
Options :

1. # Sometimes anger

2. % can motivate us

3. ¥ to work hardest.

4. % No error

Question Number : 62 Question Id : 9277597358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Sometimes anger /can motivate us /to work hardest. / No error
Options :

1. # Sometimes anger

2. % can motivate us

3. ¥ to work hardest.

4, % No error

Question Number : 63 Question Id : 9277597359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

They had already plan to leave.
Options :

1. * has already planned

2. % have already plan

3. ¥ had already planned

4. % No improvement

Question Number : 63 Question Id : 9277597359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

They had already plan to leave.
Options :

1. # has already planned

2. # have already plan

3. % had already planned

4. ¥ No improvement

Question Number : 64 Question Id : 9277597360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He have been missing since he left the house.

Options :
1. * have been missing for
2. % has been missed for

3. ¥ had been missing since



4. ¥ No improvement

Question Number : 64 Question Id : 9277597360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He have been missing since he left the house.

Options :

1. *¥ have been missing for
2. % has been missed for

3. ¥ had been missing since

4. % No improvement

Question Number : 65 Question Id : 9277597361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

Higher education excludes many women.
Options :

1. ¥ still

2. % till

3. % until

4. % up till

Question Number : 65 Question Id : 9277597361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

Higher education excludes many women.

Options :



1. ¢ still
2. % il

3. % until
4. % yp till

Question Number : 66 Question Id : 9277597362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

what you have, be grateful for what’s gone and stay motivated.
Options :
1. % Surly
2. % Cherish
3. % Play
4. # Slay

Question Number : 66 Question Id : 9277597362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

what you have, be grateful for what’s gone and stay motivated.
Options :
1. # Surly
2. % Cherish
3. % Play
4. # Slay

Question Number : 67 Question Id : 9277597363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a



coherent paragraph.

P: There are various kinds of avalanches, including rock avalanches, snow avalanches, and debris avalanches.

Q: Snow avalanches constitute a relatively common phenomenon in many mountainous areas.

R: An avalanche is typically triggered when materials on a slope break loose from its surroundings; this material then quickly collects and carries
additional material down the slope.

S: Avalanche is a mass of material moving rapidly down a slope.

Options :

1. ¥ SRPQ
2. % PQRS
3. ¥ SRQP
4. % QRPS

Question Number : 67 Question Id : 9277597363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: There are various kinds of avalanches, including rock avalanches, snow avalanches, and debris avalanches.

Q: Snow avalanches constitute a relatively common phenomenon in many mountainous areas.

R: An avalanche is typically triggered when materials on a slope break loose from its surroundings; this material then quickly collects and carries
additional material down the slope.

S: Avalanche is a mass of material moving rapidly down a slope.

Options :

1. ¥ SRPQ
2. % PQRS
3. % SRQP
4. % QRPS

Question Number : 68 Question Id : 9277597364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.



P: Other means of transmission include blood transfusion, placental transmission, or consumption of contaminated food.

Q: The protozoan Trypanosoma cruzi, the cause of Chagas disease, was limited historically to rural Latin America.

R: But increased migration of infected people has facilitated the spread of the disease.

S: Chagas disease is transmitted mainly by bloodsucking “kissing bugs,” but various domestic and wild animals, including cats, dogs, guinea
pigs, raccoons, skunks, and armadillos, participate in the transmission cycle.

Options :

1. # RPQS
2. % SRQP
3. ¥ SRPQ
4. ¥ QRSP

Question Number : 68 Question Id : 9277597364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: Other means of transmission include blood transfusion, placental transmission, or consumption of contaminated food.

Q: The protozoan Trypanosoma cruzi, the cause of Chagas disease, was limited historically to rural Latin America.

R: But increased migration of infected people has facilitated the spread of the disease.

S: Chagas disease is transmitted mainly by bloodsucking “kissing bugs,” but various domestic and wild animals, including cats, dogs, guinea
pigs, raccoons, skunks, and armadillos, participate in the transmission cycle.

Options :

1. # RPQS
2. % SRQP
3. % SRPQ
4. ¥ QRSP

Question Number : 69 Question Id : 9277597365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Ally



Options :

1. # Sufferer

2. ¥ Supporter
3. % Amateur
4. % Soldier

Question Number : 69 Question Id : 9277597365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Ally

Options :

1. # Sufferer

2. ¥ Supporter
3. % Amateur
4. % Soldier

Question Number : 70 Question Id : 9277597366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Destitute
Options :

1. ¥ Opulent
2. # Skillful
3. % Meek

4. % Servile

Question Number : 70 Question Id : 9277597366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that is opposite in meaning to the given word.

Destitute
Options :

1. ¥ Opulent
2. % Skillful
3. % Meek

4. % Servile

Question Number : 71 Question Id : 9277597367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. ¥ Geometry

2. # Giometry

3. % Geomatry

4. # Geomeitry

Question Number : 71 Question Id : 9277597367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. ¥ Geometry

2. % Giometry

3. ¥ Geomatry

4. ¥ Geomeitry

Question Number : 72 Question Id : 9277597368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. ¥ Playrite

2. ¥ Playwright

3. % Playright

4. ® Playwrite

Question Number : 72 Question Id : 9277597368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. # Playrite

2. ¥ Playwright

3. # Playright

4. % Playwrite

Question Number : 73 Question Id : 9277597369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To die in harness

Options :

1. ¥ To die while still working
2. # To die in an event

3. % A natural death

4. % To die in an epidemic

Question Number : 73 Question Id : 9277597369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To die in harness

Options :

1. ¥ To die while still working
2. ® To die in an event

3. # A natural death

4. ® To die in an epidemic

Question Number : 74 Question Id : 9277597370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To fall on one’s feet

Options :

1. # To get hurt badly

2. % To be sabotaged by a close friend
3. % To be fortunate

4. % To show disappointment

Question Number : 74 Question Id : 9277597370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To fall on one’s feet

Options :

1. # To get hurt badly

2. % To be sabotaged by a close friend
3. % To be fortunate

4. ® To show disappointment



Question Number : 75 Question Id : 9277597371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A handwritten paper
Options :

1. ¥ Manuscript

2. % Diary

3. * Thesis

4. % Handcraft

Question Number : 75 Question Id : 9277597371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A handwritten paper

Options :

1. ¥ Manuscript

2. * Diary

3. * Thesis

4. % Handcraft

Sub-Section Number : 2
Sub-Section Id : 927759344
Question Shuffling Allowed : Yes

Question Id : 9277597372 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage carefully and answer the given questions.

Steel has a high strength-to-weight ratio and is relatively cheap to produce. There are qualities that make the material invaluable in construction
and the car industry. As a major component of wind turbines, steel will be a big part of the transition to green energy too.



That’s partially why the global demand for steel is forecast to increase by more than a third by 2050. This could be bad news for the planet,
though, as steel manufacturing already accounts for 7% of CO2 emissions worldwide. Thus, the world needs to find a way to make lots of steel
while reducing the industry’s carbon footprint.

To produce steel, iron ore is mined, processed and then alloyed with carbon and other elements. Coking coal, a form of coal with high carbon
content, plays three different roles in this process. It can help turn iron ore into iron, process iron into steel, and it’s also a fuel that can help
power these processes.

In integrated steelworks, coking coal is heated to around 1,100°C to produce a pure form of carbon called coke. Coke reduces the ore to iron in a
blast furnace by reacting with oxygen to make carbon monoxide. One molecule of iron ore reacts with three molecules of carbon monoxide,
leaving two iron atoms and three molecules of carbon dioxide. The greenhouse gas is then released into the atmosphere as waste.

Finally, iron is converted to steel by altering its carbon content in a basic oxygen furnace. Globally, 90% of the steel produced from iron ore is
manufactured using this process.

A carbon-neutral steel industry could substitute coal in each step of this process. But at the moment, coal remains the most cost-effective option
in most cases.

Direct electrolysis, where iron ore is turned directly into steel using electricity, also has potential, but it’s a long way from being commercially
viable. With time running short, the surest route to meet deadline for decarbonisation is to use the direct reduction method with hydrogen in
electric arc furnaces, or use coal in integrated steelworks with carbon capture and storage. Globally, both are likely to play a role.

Sub questions

Question Number : 76 Question Id : 9277597373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The passage mainly talks about:

Options :

1. #* Plans to restrain industries affecting the natural environment.

2. % How to scrub out the industry’s emissions when producing steel.
3. # Inefficiency of many industries in producing coal free steel.

4. % Methods and alternatives available in the market for stainless steel.

Question Number : 77 Question Id : 9277597374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the author, the global demand for steel is forecast to increase by:
Options :

1. * More than 90% in five years

2. % More than five by 2035

3. ¥ More than third by 2050



4. # More than 7% in coming years

Question Number : 78 Question Id : 9277597375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements can be inferred from the given passage?
Options :

1. # Other than carbon neutral industry, no industry can substitute coal.

2. % Continued coal use must be met with radical improvements in carbon capture.
3. % Coal will continue to be used for making steel in the 2030s and beyond.

4. ® No greenhouse gas is released when using iron ore to produce steel.

Question Number : 79 Question Id : 9277597376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following processes is NOT involved when producing steel?
Options :

1. ¥ Trapping carbon dioxide for further process.

2. % Mining of iron ore.

3. % Alteration of carbon content of iron in a basic oxygen furnace.

4. ® Tron is alloyed with carbon.

Question Number : 80 Question Id : 9277597377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the SYNONYM of the word-‘viable’ as used in the passage?
Options :

1. #® Impossible

2. # Incredible

3. # Dubious

4. ¥ Conceivable



Question Id : 9277597372 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage carefully and answer the given questions.

Steel has a high strength-to-weight ratio and is relatively cheap to produce. There are qualities that make the material invaluable in construction
and the car industry. As a major component of wind turbines, steel will be a big part of the transition to green energy too.

That’s partially why the global demand for steel is forecast to increase by more than a third by 2050. This could be bad news for the planet,
though, as steel manufacturing already accounts for 7% of CO2 emissions worldwide. Thus, the world needs to find a way to make lots of steel
while reducing the industry’s carbon footprint.

To produce steel, iron ore is mined, processed and then alloyed with carbon and other elements. Coking coal, a form of coal with high carbon
content, plays three different roles in this process. It can help turn iron ore into iron, process iron into steel, and it’s also a fuel that can help
power these processes.

In integrated steelworks, coking coal is heated to around 1,100°C to produce a pure form of carbon called coke. Coke reduces the ore to iron in a
blast furnace by reacting with oxygen to make carbon monoxide. One molecule of iron ore reacts with three molecules of carbon monoxide,
leaving two iron atoms and three molecules of carbon dioxide. The greenhouse gas is then released into the atmosphere as waste.

Finally, iron is converted to steel by altering its carbon content in a basic oxygen furnace. Globally, 90% of the steel produced from iron ore is
manufactured using this process.

A carbon-neutral steel industry could substitute coal in each step of this process. But at the moment, coal remains the most cost-effective option
in most cases.

Direct electrolysis, where iron ore is turned directly into steel using electricity, also has potential, but it’s a long way from being commercially
viable. With time running short, the surest route to meet deadline for decarbonisation is to use the direct reduction method with hydrogen in
electric arc furnaces, or use coal in integrated steelworks with carbon capture and storage. Globally, both are likely to play a role.

Sub questions

Question Number : 76 Question Id : 9277597373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The passage mainly talks about:

Options :

1. # Plans to restrain industries affecting the natural environment.

2. % How to scrub out the industry’s emissions when producing steel.
3. % Inefficiency of many industries in producing coal free steel.

4. % Methods and alternatives available in the market for stainless steel.

Question Number : 77 Question Id : 9277597374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

According to the author, the global demand for steel is forecast to increase by:
Options :

1. # More than 90% in five years

2. % More than five by 2035

3. ¥ More than third by 2050

4. % More than 7% in coming years

Question Number : 78 Question Id : 9277597375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements can be inferred from the given passage?
Options :

1. # Other than carbon neutral industry, no industry can substitute coal.

2. ¥ Continued coal use must be met with radical improvements in carbon capture.
3. # Coal will continue to be used for making steel in the 2030s and beyond.

4. # No greenhouse gas is released when using iron ore to produce steel.

Question Number : 79 Question Id : 9277597376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following processes is NOT involved when producing steel?
Options :

1. ¥ Trapping carbon dioxide for further process.

2. # Mining of iron ore.

3. # Alteration of carbon content of iron in a basic oxygen furnace.

4. % Tron is alloyed with carbon.

Question Number : 80 Question Id : 9277597377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the SYNONYM of the word-‘viable’ as used in the passage?
Options :



1. * Impossible
2. % Incredible
3. # Dubious

4. ¥ Conceivable

General Hindi
Group Number : 5
Group Id : 927759265
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Hindi

Section Id : 927759291
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759345
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9277597378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau 7T Treg & Y TfY fawse o1 I8 BT
iy

Options :

1. ¢ TI+HH
2. % T3
3. % gOr+3fH
4. % FYL+3ARHAT

Question Number : 81 Question Id : 9277597378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T 21eg & WY T fawdg o1 T PIRTTY
o

Options :

1. ¥ QS
2. % T3
3. % g3
4. % Y+3RIRE!

Question Number : 82 Question Id : 9277597379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed § § <o &1 Wet U™ $1F 91 8?
Options :

1. % fgaumy

2. ¢ HHYRY AN

3. % Gg 9a™

4. % qgdife ga™



Question Number : 82 Question Id : 9277597379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 <o &1 98t AN &F 91 82
Options :

1. % fgr gury

2. ¢ HHYRY T

3. % G gA™

4. % qgdife 9a™

Question Number : 83 Question Id : 9277597380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofiied o 9 319 91 Weg ¢=1e 57
Options :

1. #* Hildd

2. % IHAT

3. % T

4.+ qIel

Question Number : 83 Question Id : 9277597380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefad 7 3 &1 91 Wea e 82
Options :

1. % HiTcl

2. % IHAT

3. % TeaMm

4. ¥ el



Question Number : 84 Question Id : 9277597381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 H o ®IME &1 qfd &
TXpa g8 0T &, T A Srot Hiast P IHdI 5|

Options :
1. % fqry
2. v FAd
3. % 3raHfd
4. % gig

Question Number : 84 Question Id : 9277597381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

areg # Rad R &1 i B
T ag U e, SR A e it e gl

Options :
1. ® fadbr g
2. ¢ JAld
3. % 3faHld
4. % gfg

Question Number : 85 Question Id : 9277597382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. VTS
3. % PO
4. % DS TD

Question Number : 85 Question Id : 9277597382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T Tsg &1 faeiw ee F1d BT
3P

Options :
1. % dgd
2. ¥ Udh
3. ¥ 99
4. % DY UD

Question Number : 86 Question Id : 9277597383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 7T Tsg 1 vafgaT 31d ST
RIS

Options :
1. ¥ gy
2. % 3dId
3. % 3fd
4, % 3

Question Number : 86 Question Id : 9277597383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few 71T reg 1 wATgaTH F1d BT



Question Number : 87 Question Id : 9277597384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoiad 2rsal § & Y5 ac- &l 99 Bl |
Options :

1. % 3UeId

2. % A

3. ¥ Udish

4. % TORD

Question Number : 87 Question Id : 9277597384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad weal & T Y ad- &1 994 Hifod |
Options :

1. % 3fIRId

2. % B

3. ¢ Udiih

4. % GIRD

Question Number : 88 Question Id : 9277597385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafaRad aredl # ¥ IRa a9 &1 999 DI |
Options :
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Question Number : 88 Question Id : 9277597385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad aril B ¥ ORe are &1 90 Difor |
Options :

1. ¢ AT = TS T &1 g4 UgTS B

2. % AT 3T @HT SR 3R UGTS Bt

3. % T T ST 3R 1Y g ugTs i i
4. % Fiar 3 @A WY SR 3R uers ot B

Question Number : 89 Question Id : 9277597386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiyd arel & & e ared &1 999 Hifod |
Options :

1. % ¢ 98 URIe & IO WR ygadr di e O g
2. % g URIe H Y9 R Ugadi i a1 O g

3. ¢ 98 GIe T 99 IR Ugadl ol O gl S|

4. % S 98 Ule o GHY W Ugddl o) 9T g1 S|

Question Number : 89 Question Id : 9277597386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad arel & 4 Egad are &1 994 Sifod |



Options :

1. % g 98 URIeM & I8 W Ugadi dl 3ol I g
2. % 98 W& H 9T R Ygadr dl ol Ui gl

3. v 98 TRIE H 999 R Ugddl o) U 81 S|

4. % S 98 URI&M & IO WR Ygadr o U g SiTd |

Question Number : 90 Question Id : 9277597387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad & I TR ;1d Bifow|
Options :

1. ¢ et

2. % fg=d

3. % {@

4. % gart

Question Number : 90 Question Id : 9277597387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRed & I TR F1d Hifo|
Options :

1. ¥ gl

2. % fg

3. % 3@

4. % gAITl

Question Number : 91 Question Id : 9277597388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRed area & &1 3Md B |



dg 3% UDHR o1 faen Ha gl 5|
Options :

1. ¢ 3T Yd

2. % Higw Yd

3. % 3rquf yd

4. % FUTH IAdHH

Question Number : 91 Question Id : 9277597388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad areg | &1a R Sifch |
I8 3% UHR Pt faen e gt g

Options :

1. ¢ ST Hd

2. % iy yq

3. % 3ol yd

4. % JYTT AU

Question Number : 92 Question Id : 9277597389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T are & o Iugad favma faegl &1 o= ifu|
O =T e aredT § RE 41 I

Options :
1. %1,
2.9 |
3.% <

4. % 9



Question Number : 92 Question Id : 9277597389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu TTq are & fore Iuged farmy gl &1 oo Fifo|
TS =T o aredT § RE 41

Options :
1. %1,
2.9 |
3. % <

4. % 9

2

Question Number : 93 Question Id : 9277597390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we , fou 0 aR fawedl & 9, 39 fadmed &1 997 & S faU U gaTar & 31 & 9a9y U 9 Fad axdl g

3g W AgHI
Options :

1. ¢ 30 BR TR A famr
2. ¥ 38 WG

3. % O R W
4. % 3+ ®H Feaar

Question Number : 93 Question Id : 9277597390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, fou U IR fawedt & ¥, 39 fawen &1 997 & 5 fou U geTar & 31 &) W9y ¥U 9§ oad ol g

3§ R AGHAI
Options :

1. 30 R R A fe@mn




2. % 38 WG
3. % 3O R H IR T
4. % U p1H Fepaarm

Question Number : 94 Question Id : 9277597391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, iiu U IR 9wl & 9, 39 fadwed &1 78 &L 1 AU T gTar & 31 &) 9998 0 ¥ ad axdl |
fofbRT 81 ST

Options :

1. % g DR o1 §I o1
2. ¢ fau ge

3. % B 3IH g

4. ® B BIA 8Id fITS ST

Question Number : 94 Question Id : 9277597391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 5 9, 39 fawed &1 999 & ol fau T ggrar & o ! 99y ©U J oJad axdl o |
foh=fh=T 81 ST

Options :

1. ® g DR B gl o
2. ¢ fqu Ul

3. % B 3l gl

4. % DT BId gid foTS ST

Question Number : 95 Question Id : 9277597392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, iiu U IR 9wl & 9, 39 fadwed &1 77 &L 1 AU T gTar & 31 &) 9998 0 ¥ ad axdl |




ot T SR, 99 a4t & siie

Options :

1. % ST, AT A &

2. ¢ AT 3R R & SFUR HTH FHRA1 16T
3. % T8I T 81 dai o1 Rfcal &7 =R 31

4. % S 79 9181 M fHa1, S 74 fbd1 S 7 HAT

Question Number : 95 Question Id : 9277597392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we , fou 0 aR fawed! & 9, 39 fadmed &1 997 & S faU U geTar & 31 ! 99y U 9 &ad axdl g
o TS TR, a9 a4t i 3

Options :

1. % 1T GRI T, 9T 9N B

2. ¢ FHY 3R YRR & TR HTH BT <MY

3. % gl X1 5l dgl ot Riqdl BT SR H=1

4. % Sq U9 9181 ®1H {1, S B fobdl D1 F Bl

Sub-Section Number : 2
Sub-Section Id : 927759346
Question Shuffling Allowed : Yes

Question Id : 9277597393 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

IR P YA Ug 3R 3T 7T Ui &1 gl SR < |

JeaR e gt & fore Sita & 3 9g TR T adT U - & folt 9gd TR g | I8 894 SMAfIY faswRid &1 & Iy 8 g9R
feried AT H Hi AeTaar Bl 81 Wbt e Fuil o Sita # #gT 4fffreh1 Tt & 1 O Riaf o= 1 urufiies fRiam, wieafires fRam ok
I ATeAtie e o &Y ofiF 4T & dler T g | e & I TR 30T U IRy Hed ok WM W § 1 89 IH 3 =) Y I dd
@1 3R S U ST IT8d B, Sl had s 3R I Rrem & wremm ¥ € gua g




Uﬂddﬁ{-ltfgrdl Ot aﬁg@@ 3T A & fore Rre w4t & 1w U 9gd Ayl WieH | I8 g8 Siiae & Sie+ 99 & gAifaal 9
M R H Fead HRdl 5 |

¥ Rreqor gfshar & SR U1 o 711 I 89 It 3R Ui Jafad ®I 3 Siias & Ul SR o91a1 8 1 98 Sftae H 9gar JuTaaf
B U B &b THRI & forw AT grars Wieldt g o $RIR & [ o1 sigrar i |

o &1 7 18 & HEd Bl 9g1a1 & & ol IRBR GRT T80 U SR T ST It ST e & | I8 Jorel § 9t safaadl & GHmdr o
TG ATl § 3R S & [T 3R gfg ) o Fgrar <t g

Sub questions

Question Number : 96 Question Id : 9277597394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR Rign gt & fore it TRt &2
Options :

1. ¢ Siig | A §¢+ & ford

2. % Wpd g1 & ford

3. % AN H A & o

4. % g DI 981 W & ford

Question Number : 97 Question Id : 9277597395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<9 TR & Het XD BT I99 B |
Options :

1. ¢ & o1 A8

2. % fR1g 3R AMa

3. % e 3R gH

4. % SR TR

Question Number : 98 Question Id : 9277597396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1T <31 1 fasar= W & sifer T/ 82



Options :
1. % 4
2.¥3
3.%5
4. % 6

Question Number : 99 Question Id : 9277597397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R forerd TRt e Sl 82
Options :

1. % e H

2. % QAGAH

3. ¢ ATl I AT v o

4. % GHTS DT HHAT HRA H

Question Number : 100 Question Id : 9277597398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRra7o1 Ufehan o SR T, ! TS Sfad o1 ol ST 672
Options :

1. % IR feR

2. ¢ TAMWR

3. % gfoadH

4, % YddH-

Question Id : 9277597393 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

IR BT YA Ug 3R 3T 7T Ui &1 gl SaR < |
JEoR g it & forw Sfa & 3 S 3R TohaldT U HR- & folt S5 SMTaRAd ¢ | I8 HH SNy f[adHRid H & 91 81 gAR




HfeRkicd 0T H +t FRTIdr St 8 | el & Tt o Siia H He T Yf#enT (T § 1 gR fRia oF o1 urufies Riam, Areafiie fRia sik
I ATeAfHe FRI&T S & e YT & Siet 77 ¢ | 18 o Tl TR 30H1 U faRiv Aed SR RIF 3ad ¢ | 89 9 310 S ol wad
I 3R Td §U S/ I18d §, o had 33 3R Ifad e & areny I g Jya g

STia & A adT U1 B IR $6 e B o fod g Faft & o U 9gd Aeayul WeH ¢ | I8 84 Sitad & dicd 99d 8 gl o
ITEAT A H TERId] Bl g |

T Rreqor Ufeham o SR U1 o 71T I 89 It 3R Ui Jafad I 310 Siia= & Ul SR o91aT 8 | 98 Sitae H 9gaR JuTaaf
DI U B & TR P foru fafire evars @it § o HRaR & e &1 g fid |

o & H 18 & HEd Bl 9G1a1 & & ol IBR GRT I8 SR T ST It ST 38 & | I8 Jarel J 9t safaadl & qamdr o
HIGT o1l & 3R 321 & f3pr 3R gfig &) i sgrar St B

Sub questions

Question Number : 96 Question Id : 9277597394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SER fRgm eft & forg o=t TRt B2
Options :

1. ¢ Siiq | 3N g¢ & ford

2. % (Ahd g & ford

3. % A H A & ford

4, % G DI 991 ¢ & ford

Question Number : 97 Question Id : 9277597395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 TR & et e BT 78 Siford |
Options :

1. ¢ 1871 &1 Hed

2. % fR1gm 3R AMa

3. % g ofik 8w

4. % SR fRiem

Question Number : 98 Question Id : 9277597396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fRref o= &1 fase it & et T 89
Options :

1. % 4

2.¥3

3.%5

4. % 6

Question Number : 99 Question Id : 9277597397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R foperd TRt eI Sl 82
Options :

1. % e H

2. % YAT/AH

3. ¢ AT T QAT R |

4. % GHTS DT HHAT HA H

Question Number : 100 Question Id : 9277597398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrero1 Ufehar & SR U, I U Afad &l -1 I-1aT 52
Options :

1. % IR RWer
2. AR
3. % QfgddE
4. % YA

Disciplinel

Group Number : 6



Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 9277597399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sg e HEEa L = (32 + 2) - V(x) &, & v e 7 sifame &or &1 fdectaas = 37

Options :
Lv P52+ V()

) % (& +2) + V(x)

927759266
0

0

No

No

0

20

No

Disciplinel

927759292
1

Online
Mandatory
20

20

20

Yes

1
927759347
Yes




3 (Px + 2) + V(x)

4% X P+ VX

Question Number : 101 Question Id : 9277597399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Hamiltonian of a particle moving in one dimension when the given lagrangian is
L=(x2+2)-V(x)?

Options :

| PF2+V(X)

, % @+2)+V()

3 % (PX+2)TVI(X)

4 % XpTV(E)

Question Number : 102 Question Id : 9277597400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When two bodies collide, there is no loss of kinetic energy. What is the coefficient of restitution for this collision?
Options :

1. % e=0

2.¥e=1

3.%e=05

4. % 0<e<l



Question Number : 102 Question Id : 9277597400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oId &l fUSi & e Bl §, <l Tl Sroll B BIs 8T+ ol Bla & | 39 ¢abR & [0 YIaRIM UM H1 62
Options :

l.* e=0

2. % e=1

3. % e=05

4. % 0<e<l

Question Number : 103 Question Id : 9277597401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A linear operator is said is the unitary operator if

Options :

v AT=A"
2. ® At=A
;3 % AT=A?
4. ® A=A

Question Number : 103 Question Id : 9277597401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afg . I AP ISP B UhTHD el Dl dl g |

Options :

~

v A= A7



4. % AZ= A

Question Number : 104 Question Id : 9277597402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electric field is conservative when

Options :

1. # curl of electric field is equal to electric potential
2. ® divergence of electric field is zero

3. % curl of electric field is zero

4. ® divergence of electric field is equal to electric potential

Question Number : 104 Question Id : 9277597402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S§ |, difagyd &= sraRad-ard giar g |
Options :

1. % f9ggd &7 &1 o faggd fayd & RER g1 §

2. % fagygd &5 &1 fage Y BT 8

3. ¢ faggd &7 BT 9% YA BT §

4. % fagyd & &1 fogaH faggd faya & SRR g1 8

Question Number : 105 Question Id : 9277597403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The electric field inside the sphere of radius R having volume charge density p =ar + 2 is

Options :
1 ® ar’+4so

7 « ar*+ 8so
3 % ar*+2so

4. % ar’~zso

Question Number : 105 Question Id : 9277597403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T MTART TTed p = ar - 2 AT F3STT R & At & 3R fagyd & I 5|

Options :
| w art + 4egg

L
x4 ar - 850
2

.

Question Number : 106 Question Id : 9277597404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ensemble in which elements can exchange energy but not the particle is
Options :

1. # Microcanonical



2. % Canonical
3. % Grand canonical

4. % Grand canonical and Canonical.

Question Number : 106 Question Id : 9277597404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T g R @ SHoll BT HGH-UH HR Gdhd g AbTI HU-el, a8 gl gl
Options :

1. ® ﬁ&ﬂﬁ’%ﬂ (microcanonical)

2. ¥ ﬁ‘%ﬂ(canonical)

3. ¥ dog fafga (grand canonical)

4. % dgq %PE)'T‘[ (grand canonical) 3R fa%ﬁ (canonical)

Question Number : 107 Question Id : 9277597405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total angular momentum of spectral term 3dis

Options :

1. % 3,1,0
2. % 432
3.%2-1,0
4. 9321

Question Number : 107 Question Id : 9277597405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gufsrig (spectral) UG 3d BT Hd PO o gl
Options :

1. % 31,0

2. % 432



3. % 2,-1,0
4. %321

Question Number : 108 Question Id : 9277597406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of band gap (in eV) of Si at 300 k?
Options :

1. # 0.17

2.9 1.11

3. %229

4. % 1.37

Question Number : 108 Question Id : 9277597406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

300 k TR Si & S8 R (eV H) &1 A1 ford=1 81a1 32
Options :

1. ® 0.17

2.¥ 111

3. % 2.29

4. % 137

Question Number : 109 Question Id : 9277597407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The doping in the base of transistor is
Options :

1. ¥ light

2. # heavy

3. ® moderate

4. % very heavy



Question Number : 109 Question Id : 9277597407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PIGNEIGIRE] (transistor) & YR T A (doping) BBl
Options :

1. ¥ gohl

2. % YR

3. % HyH

4. % §gd YR

Question Number : 110 Question Id : 9277597408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The spin parity of :0'7 is :

Options :

L% B2y
X (5+2)
;% B+2r
4 e

Question Number : 110 Question Id : 9277597408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g0’ Fr g=FUT WHAT (spin parity) g 2
Options :




x B2

, % 8 =2
s n B +2)
40 B *2)

Question Number : 111 Question Id : 9277597409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following property is INCORRECT about nuclear forces?
Options :

1. # charge independent

2. # gspin dependent

3. ¥ weakest force in nature

4. % short range force

Question Number : 111 Question Id : 9277597409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URAY] §d1 & IR § FafaRad § 3 SF 91 e 3RTd 82
Options :

1. % ST TS

2. % YIehUT ST

3. ¢ Uphid § G GUIGG I ad

4. % JYRR g

Question Number : 112 Question Id : 9277597410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an example of Total Internal Reflection?
Options :

1. # Shining of the crack in a glass vessel

2. ¥ twinkling of star

3. % gparkling of diamond

4. # formation of mirage

Question Number : 112 Question Id : 9277597410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafead o & &9 qui Siidfes Wi &1 IETex0 T8l 82
Options :

1. % P P Ta- H SR BT IHD]

2. ¢ dR &1 feafenr

3. % BR BT IHDA

4. % TGN &1 fAAfor

Question Number : 113 Question Id : 9277597411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The microscope used for imaging the surface at the atomic level is
Options :

1. ¥ SEM

2. % STM

3. % TEM

4. ¥ AFM

Question Number : 113 Question Id : 9277597411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TRATY] &R TR g &b UfAfSa (imaging) ¥ 7€ uged geresif gl
Options :
1. % SEM
2. ¥ STM
3. ¥ TEM
4. % AFM

Question Number : 114 Question Id : 9277597412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When all the dimensions are in nano range, then it is called as
Options :

1. # Quantum well

2. % Quantum dot

3. # quantum wire

4. % micromaterial

Question Number : 114 Question Id : 9277597412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e M i A RO A SR g, gy FHeISErg!
Options :

1. % BicH dd

2. ¥ BiCH SIC

3. % PICH AR

4. % OZHHANRIA

Question Number : 115 Question Id : 9277597413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The dimension of the nanomaterials are between



Options :

1. % 1t0100 um
2. % 1 to 100 nm
3. % 1to 100 mm
4. % 1t0100 A

Question Number : 115 Question Id : 9277597413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ArHeTaed @t fam & S gt 8|
Options :

1. % 19100 um

2.+ 19100 nm

3. % 19100 mm

4. % 19100 A

Question Number : 116 Question Id : 9277597414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Full form of LASER is

Options :

1. ¥ Light Amplification by Stimulated Emission of Radiations
2. # Light Absorption and Stimulated Emission of Radiations

3. # Light Amplification by Spontaneous Emission of Radiations
4. % Light Absorption by Spontaneous Emission of Radiations

Question Number : 116 Question Id : 9277597414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JOR T IUf Tey gl

Options :



1. ¥ ATS¢ TR b’ dT5 Reqales SHRM 31t ST
2. % TEC Uik U fReqeics SHRM ot Ieurma
3. % TI3C TN ¥H T8 Wie Iy SR 3T ST
4. % TIZC Usoex( S8 W0 SRM T ASu=r

Question Number : 117 Question Id : 9277597415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the atoms in the ground state in simulated emission, the life time is

Options :
1. % 10 sec
2. % 1 sec
3. ¥ infinity
4. % 60 sec

Question Number : 117 Question Id : 9277597415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofd R 3 RN A PRAIIOT A g g, dicladdd garsl
Options :

1. % 10 dbhS

2. % | b

3. ¢ 3Fd

4. % 60 Yobg

Question Number : 118 Question Id : 9277597416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the isospin of pions?

Options :

1.9 1



2. % (1+2)
3.% 0
4% 1+2

Question Number : 118 Question Id : 9277597416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O &1 gHYTR® U=rhur (isospin) KT %‘?
Options :

1.¥ 1

2.% (1+2)

3.%0

4. % 1+2

Question Number : 119 Question Id : 9277597417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following particle known as God particle?
Options :

1. * Photon

2. % Positron

3. % Higgs boson

4. % Quasar

Question Number : 119 Question Id : 9277597417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad o 9 &F 91 S TTe UIfiéhd & U | ST oiTdl 87
Options :

1. % BIcH

2. % lefie

A~




3. ¢ iR aiaH
4. % HIR (HW)

Question Number : 120 Question Id : 9277597418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Positrons have same mass but opposite electric charge. This is the antiparticle of
Options :

1. ¥ Electron

2. % Proton

3. * Neutron

4. # Photon

Question Number : 120 Question Id : 9277597418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GTRIETa 1 SoqH FHM dfe fIudld faggd smaw giar g, a8 &1 Ui U Bl B |
Options :

1. ¥ AR

2. % g

3. % LM

4. % BICH
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Question Number : 121 Question Id : 9277597419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Einstein's frequency for @e=210k is

Options :
1. % 4.39 % 10! sec™

5  4.39 x 1012 sec™!
3 % 4.39 x 1013 sec!

4. % 4.39 % 10'° sec™?



Question Number : 121 Question Id : 9277597419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6r = 210 k ¥ fow 3EEdT fr g gl

Options :

| % 4.39 x 10" sec™

X

) « 4.39 x 10" sec™

x

>

3 = 4.39 x 10" sec™

10" sec’

X

4 % 4.39

Question Number : 122 Question Id : 9277597420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For the given dispersion relation, o(k) = A ka/2, the group velocity is
Options :

1. ¥ Aa=2

2. % Aa

3. % Aka+2

4. % Aka

Question Number : 122 Question Id : 9277597420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T aRkegur day & Y, w(k) = A ka/2, T 97 gl
Options :

1. ¥ Aa 2

2. % Aa



3. % Aka =2
4, % Aka

Question Number : 123 Question Id : 9277597421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On passing through the neon gas, plasma and light produces
Options :

1. ¥ electric current

2. # Voltage

3. % ions

4. ® electric field

Question Number : 123 Question Id : 9277597421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NI ORI RS SRIGR ST B G|
Options :

1. ¢ faggd 4RI

2. % gleed

3. % 3

4. % fagga &=

Question Number : 124 Question Id : 9277597422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the planet is nearest to the sun, this position is called as
Options :

1. % Apogee

2. % Aphelion

3. # Perigee



4. % Perihelion

Question Number : 124 Question Id : 9277597422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STe D13 T5 4 &b Yol b Bl 8, M RSP eI &
Options :

1. % ﬁlﬁﬁ@ (Apogee)

2. % AT (Aphelion)

3. % YGHIUD (Perigee)

4. ¢ ﬁﬁw (Perihelion)

Question Number : 125 Question Id : 9277597423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Universe is expanding, the rate of this expansion is
Options :

1. ¥ accelerating

2. % decelerating

3. % zero

4. % constant

Question Number : 125 Question Id : 9277597423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selie HI AR I W e, TR PR g
Options :

1. ¢ @R

2. % Hg

3. % Y

4. % RR




Question Number : 126 Question Id : 9277597424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the sum of the eigenvalues of the matrix?
Options :

1. ¥ trace of the matrix

2. # determinant of the matrix

3. % order of the matrix

4. % no. of elements in the matrix

Question Number : 126 Question Id : 9277597424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(TR (matrix) & MHTATEOD (cigen) A T AT FT g2
Options :

1. ¢ 3Tegg DT =M

2. % IR BT FUR®

3. % 3{[Yg Bl DI

4. % TG H (U] ol A

Question Number : 127 Question Id : 9277597425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
All the elements in the null matrix is
Options :

1. % 1

2. ¥ zero

3.% 2

4. % -]

Question Number : 127 Question Id : 9277597425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I 3i1egg A oft eraag gl
Options :

1. %1

2. ¢ I

3. %2

4. % -1

Question Number : 128 Question Id : 9277597426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The system which is constituted by many non-identical elements connected by diverse interactions is known as

Options :

1. # social network

2. % online network

3. ¥ complex system

4, % Semantic network

Question Number : 128 Question Id : 9277597426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UM SRR A 98 Fs IR-IUH Il gRITSA YU 6l F ® U H ST o |
Options :

1. % TSI ol

2. % AT IoTd

3. ¢ Sfed yuret

4. % 3 et dSTTa

Question Number : 129 Question Id : 9277597427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Limit cycle is the non-linear phenomena, the trajectory of this is
Options :

1. ¥ Isolated closed trajectory

2. % TIsolated open trajectory

3. # straight line trajectory

4. % eclliptical trajectory

Question Number : 129 Question Id : 9277597427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 g RIWT uRYeT1 g, sTHTU&Tash gl
Options :

1. ¥ QYo §q Yaudsh

2. % Y gl Heuash

3. % 9 YW Y&uam

4. % SEqU y&Tah

Question Number : 130 Question Id : 9277597428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A nucleus of mass no. 200 decays into the ground state of its daughter nuclei. What is the energy of the particle if Q-value of the process is 4
MeV.

Options :

1. ¥ 3.92 MeV
2. % 4.89 MeV
3. % 534 MeV
4. % 2.63 MeV

Question Number : 130 Question Id : 9277597428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SHT TRAT 200 o TP YD DT & U Halfd AMHD DT T T T GIdl 5 | IS UfohdT BT Q- 4 MeV §, T HUI B Sl T 62
Options :

1. ¥ 3.92 MeV

2. % 489 MeV

3. % 534 MeV

4. % 2,63 MeV

Question Number : 131 Question Id : 9277597429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is NOT 1D nanomaterial?
Options :

1. # nanotubes

2. ® nanorods

3. % nanowires

4. % bundles of nanotubes

Question Number : 131 Question Id : 9277597429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafaa & § oF a1 18} (1D) FFHeRad Ad 32
Options :

1. % Jrcgsy

2. % FRISH

3. % S99

4.« JIcYsq & §8d

Question Number : 132 Question Id : 9277597430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
D-branes stands for
Options :



1. #® Dirac membrane

2. % Dirichlet brane

3. ¢ Dirichlet membrane
4. % Dirac - Brane

Question Number : 132 Question Id : 9277597430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ds®Ied gl

Options :

1. % SRRIH HaA (Dirac membrane)

2. % [S=d 99 (Dirichlet brane)

3. ¢ f&Rae HaRA (Dirichlet membrane)

4. % SIORI® - 9 (Dirac — Brane)

Question Number : 133 Question Id : 9277597431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

xdy — ydx = 3x?dx, represents a differential equation. Integrating factor for the given differential equation is:
Options :
1. % —X

2'%}{

.w
4§
ol



Question Number : 133 Question Id : 9277597431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

xdy — ydx = 3x3dx, TF HThel FHEIUT &1 AT a1 g1 8T 71T 3raaer g#@ =0T F1 §Aa
FRF FT 87

Options :

1. % —X

2. % X

A

3.¢

Question Number : 134 Question Id : 9277597432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sphere of diameter 4 cm made from evaporating substance is kept at the roof top under shade. The sphere
continuously evaporates under atmospheric conditions such that after 2 months diameter is found to be 3 cm. It is also
observed that at any instant the rate change of volume is directly proportional to the surface are of the sphere. The
time when the sphere disappears is:

Options :

1 % 4 months

> % 6 months

3« 8 months



4 % 16 months

Question Number : 134 Question Id : 9277597432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iifeag B 3T 91T ¥ ST 4 cm U1 T Teh el ©F & F9¢ ST § @7 AT g AGHASAT
gfyfeufaat & aier oA 57 9o aiftug gar g & 2 #8 & 91¢ 3 =ar" 3 cm 91T AT g
Iz ofr &or v g % ol off 99 & amuaer @ 9fEes & e # TaE F EY FAGEr g S
g1 g AT # e e & Fwen?

Options :

% 4 FE

, % 6 A
3. v 8 HE

, » 16 @

Question Number : 135 Question Id : 9277597433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a - : : 2 \-‘E :
The evaluation for the given integral [~ ———dz is:
0 vz+y2—=z
Options :

1.% 0

2.¢ 1



Question Number : 135 Question Id : 9277597433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ'tfmaqﬁr—rrj i F o Aeaea #4782

'\.Z+'\-..r.

Options :
Y

2. ¢ 1

3 % 2

4.% 4

Question Number : 136 Question Id : 9277597434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of edges in the graph Kg is:
Options :

1 % 8

2. 36

w
#
S
=]



4 % 18

Question Number : 136 Question Id : 9277597434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATITRAT Ko & et &1 wear R §2
Options :

1. % 8

2. v 36
3 & 27

4 % 18

Question Number : 137 Question Id : 9277597435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following expressions represents Froude number?
Options :

V

L Ve

Po Voo L
2. F e um



3w vu:::uT
Ve

Question Number : 137 Question Id : 9277597435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o afaeg & § P O O+ W35 TEAT & ATar 872

Options :

v Ve

Question Number : 138 Question Id : 9277597436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



L1 2 1
A=]|3 6 —1‘ represents a square matrix. Then A™% is:
-4 2 7
Options :
44 12 —8]
—d—17 ¥ 4
Lv ®lso -10 o
4t =17 30‘
=437 & =1
,n Pl B 4 @
e 17 3{]]
—=—41l & =10
.z Mg a1
4 12 8‘
—=—d—F] TE 4
Lx *Ol30 —10 0

Question Number : 138 Question Id : 9277597436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 2 1
A=|3 6 —1‘waa‘rsnagaﬁrﬁ'aﬁ?rm%|a‘rﬁlmﬁi
—4 2 7
Options :
44 —12 —8]
—|-17 11 4
v ¥l30 —10 o0




-—1-17 11 4
4 % 30 —10 0

Question Number : 139 Question Id : 9277597437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the INCORRECT option.

Options :
| % The rank of a matrix is unique.
, % IfRank(A) =n then every minor of order n + 1,n+ 2, ..... is zero.

3« Rank of a matrix is less than or equal to the rank of every sub-matrix.

4 % Rank of transpose of a matrix is equal to the rank of original matrix.

Question Number : 139 Question Id : 9277597437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



el 9y I |

Options :

| HTEGE S AT sl #

) % T Ao (A)=n TA FA n+1,n+2,... F IAF IFET (minor) T ¢l

3¢mqgﬁﬂﬁm3q-3ﬂ?a§£rﬁ}vﬁﬁ¢am:«&awaﬁ?ﬁ%l

, » T IEE F TR H Sof g gy Hr Aol F s @ B

Question Number : 140 Question Id : 9277597438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Xx—3y+z=12; 3x+y—2z2=7;5x— 2y + 4z = 10 are given set of equations. Then smallest value of k for

which |x + v + z| — — is completely divisible,

o | =

Options :
1. % -4

2. ¢ 4
3 % 224

4 % -224

Question Number : 140 Question Id : 9277597438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

x—3vtz=12: 3ty -2e=Thx—-2v E42=10 mﬂﬂ'#mgﬂw%[ ar 3§ k T gEH
ST A FT 2T, o EF T x+y + 2z -~ o R @ s 2

Options :

| % -4

2. 4

3 x 224

4% 224
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Question Number : 141 Question Id : 9277597439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PMZM is a modified Caesar cipher text message. When it is broken/decrypted it means:
Options :
| v HERE

, % BOMB
3 % SAFE

4. % COLD

Question Number : 141 Question Id : 9277597439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PMZM T Teifad HIoX SE®T 95T §e &1 319 Ig Tisa/fawifsa forar oar & o s@er &7 7
giar 82

Options :
| v HERE




, » BOMB
; » SAFE

, « COLD

Question Number : 142 Question Id : 9277597440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mamta and Modi agree on two large prime numbers n and g. Mamta chooses another large random integer x and
calculate a number A. Modi independently chooses another random integer v and calculates B. Ifn=15,g=9.x=4
and v = 7 then the value for secret key computed by B (using Diffie-Hellman key exchange) is:

Options :

. % 3

2_334
3.4 0

4 % 11

Question Number : 142 Question Id : 9277597440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AT 3R AT a1 935 39T A3 n 3R g W AT g1 AAST Tk AR 37 Tefoos qoiH X
AT ¢ AT T TET A FT 0T FAT g1 AT TAT T F TH AR ARToF OiE y TAdT § AR
BEﬁrﬂuwmw?luﬁn:15,g=9,x=43ﬂ?y=7%,?ﬁ8@mmﬁr?zéﬁgﬂ—aﬁw
m{%ﬁ-ﬁﬁaﬁﬁm—aﬁmmmg}wﬁ

Options :
1% 3

) w4
3. 6

4. % 11

Question Number : 143 Question Id : 9277597441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT an algorithm mode for cryptographic algorithm?

Options :
1. % ECB

7 « DEA
3 # CFB
4 % CBC

Question Number : 143 Question Id : 9277597441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fa=faf@a & & F7 Tgredr Fa=rara (cryptographic algorithm) & forT Fa=fafer gome 7@t 82

Options :
| % ECB

, v DEA
, % CFB

4, # CBC

Question Number : 144 Question Id : 9277597442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
~rl X i
The value of fﬂ fo (3 +x —y)dxdy is:

Options :
5

1.« 3

| b2

Ll oW

il =



Question Number : 144 Question Id : 9277597442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[ fB+x—y)dxdy & HT F ¥?

Options :
5

1.« 3

Ll b2

Ll oW

| =

Question Number : 145 Question Id : 9277597443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The velocity vector for a fluid element during its flow is given by, Vv = xyi + 2xyzj— xz?k . Corresponding vorticity
field at {1,2,—1}.is:

Options :

| % (41—j+5k)

, % (3i—2j+k)



3 » (—4i+j—5k)

4 % 2i+j—k)

Question Number : 145 Question Id : 9277597443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FT decd & foIT 397 ST 3HF YA & SR ¥ = xyi+ 2xyzj — xz2k SIRT gA/m =am &1 (1,2,-1)
9T HIT HET (vorticity) & FaT 272

Options :

|« (41—j+5k)

5 % (3i—2j+k)
s » (—4i+]—5k)

, % i+j—k)

Question Number : 146 Question Id : 9277597444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is state equation?
Options :
v B
h= -
1. i




) % y—-1p
11=LE
1
h= £
4. % y—1P

Question Number : 146 Question Id : 9277597444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T #§ ¥ &9 37 HTEdT AT 87
Options :
P
h= Y -
R ¥—1p

: 1 P
1= ~
) % y—1p

Question Number : 147 Question Id : 9277597445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

N and H are normal subgroups of a group G. Then G is the internal direct product of N and H if;
Options :
1 ® G=NH

7 ® G = NH
3 % NUH={1}

. v NnH={1}

Question Number : 147 Question Id : 9277597445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N 3R H §8g G & &AF 39848 &l I . ar G, N 3T H & 3aie 908 39E &l
Options :
| % G<NH

) ® G = NH
3 % NUH={1}

. v NnH={1}

Question Number : 148 Question Id : 9277597446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following DOES NOT belong to properties of set G* ?
Options :
1. % GP+G* cG?

, v G*N(=GY) =G
3 % GYU(-GY =G

4. % 0€EG?

Question Number : 148 Question Id : 9277597446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafa & @ i @1 Reey sgeay 6* & ot & gefa a8 ¥?
Options :

. % GF+G* cG*

, » G'N(=G") =G
;% GTU(-GY =G

4. ® 0 eG*

Question Number : 149 Question Id : 9277597447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following diagrams nearly corresponds to profile for steady flow past a circular cylinder for Reynolds

number 127
Options :




Question Number : 149 Question Id : 9277597447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F=fofET & @ FiF a1 3w Hiezw @& 12 F BT vF JoaoR 399 F 99 ¥ &R g9 &
e @R (profile) & &9TeTeT Aar TWAT 87

Options :




Question Number : 150 Question Id : 9277597448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

z
A Van der Pol oscillator is described by an equation. % —e(1—y?) % + v = 0 where £ is positive and small. The

amplitude of the limit cycle of the oscillator is:
Options :
] % 1

2.¢ 2

3 #® 4

Question Number : 150 Question Id : 9277597448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T dF 3T T oAk T FHHIOT, %—E(l—yEJEer:U I IUIT AT 8, ST ¢ TeReEw 3R
TIET g1 Ereteh & TIAT T &1 HATH fohdeT 872

Options :




Question Number : 151 Question Id : 9277597449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of [ /s f;sme xVt? —x2dxd® is:
Options :

-tg
v 36V2

34/2m— 10
[

t3
—|3vV2n—10
g LV 2r—10]
t3

E[gﬂ—‘i}]

tE
E[Sw@r{— 10]

Question Number : 151 Question Id : 9277597449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

[ 7% [ xJTT =X dxd® @ A FT §?

0
Options :
2
L 36V2

[3v2n— 10]

t3
3¢ [3V2m — 10]

tS
E [3T[ = 4]

tE
E[Sv@n:— 10]

Question Number : 152 Question Id : 9277597450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: oy 2
: : SinMz“ +Ccosmnz ; :
Evaluation for the integral 95 e dz where c is a circle such as |c] = 3.
z—1){=z—
Options :
1 % 0
2. i
3 2m

4. & 4m



Question Number : 152 Question Id : 9277597450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

£ F e 555””" ooz 4, & AT Hedehe F4T g 3@l € U Jod g =i [c| =37

{z—1)(z—2)

Options :
.# 0

2. i
3 W 2mi

4. & 4mi

Question Number : 153 Question Id : 9277597451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. 1
The inverse Laplace transform of is
s3—252+s5-2
Options :
— (e** — cost — 2sint)
. 5

L 2t .
5 (e=* — cost + Zsint)
2. %

.. (e”2* — cost — 2sint)



1 ;
R (e” ' — cost + 2sint)

Question Number : 153 Question Id : 9277597451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= F IaelH ST FIET 4T 22

s3—25245-—2

Options :

1 2t =

3 (e“* — cost — Zsint)
1.¢

1 2t =

5 (e“" — cost + Zsint)
2. %

RERT  mi| A :

z (e cost — 2Zsint)
3. %

1 -2t .

c (e™“* — cost + Zsint)
4, %

Question Number : 154 Question Id : 9277597452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Fourier transform of ——— is
x*+5x2+4

Options :



EE—M‘«] _ie—zlml
L v 6 12

1 1

Talel T 2wl
, % 60 127

1
§ {E—iml . e—z]ml}

%{Elml — a2 Im{}

Question Number : 154 Question Id : 9277597452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

l f 5
x*+5x2+4 PR I 27
Options :
1 1
_E—|o:«] __e—2]m|
1.« 6 12
1 1
Talwl 2l
, % 6. 12°

%{E—MJ . e—z]ml}
3. %

%{Elml i ezlmi}
4. %



Question Number : 155 Question Id : 9277597453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following corresponds to the qualitative aspects of quasi-one-dimensional nozzle flow?
Options :

o i

I

TJI?:—J ________ _I________:‘_H_‘_‘__:'TH-—_
]
|
1.+ - b ——
1.0
0833
T.IT,
2. %

¥ o NS |

|
I
I

3. ®



1.0 1
DR33 -

A h A

Question Number : 155 Question Id : 9277597453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
femfaf@a & & #ia a1 3ETE-TEHT-HAHT g8 (nozzle) YETE & IUNCHS Tgo3i ¥ Ao BT g7

Options :

Lo

I

T' ! 'lr-.'_. ________ B R e ————

1.¢

1.0
0833

.07

2. %



10—

|
0833 [ '
|
I

1.01
0833

T,iT,

Question Number : 156 Question Id : 9277597454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
F[f(x—a)] = ?

Options :

L@ e—ima%(mj

5 % eimaf‘(mj

3 % e—imai:(‘a]

4 % e—iimjai:(m:}



Question Number : 156 Question Id : 9277597454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fifx—a)l= ?
Options :

L e—imai:('mj
eimai:'(mj
3 % e—imai:'(aj

4% E—iimlaiz(mj

Question Number : 157 Question Id : 9277597455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I'(5)=72
Options :

1. % 15

7 « 24

Question Number : 157 Question Id : 9277597455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Ph)y= 2

Options :

| % 15

). v 24
, % 25

4 % 120

Question Number : 158 Question Id : 9277597456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given that, | e ™ dx =T thenT G) = 2

Options :

v Vm

Question Number : 158 Question Id : 9277597456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Ram s & & [0 eCax—vm, a@rr() =2

Options :

1w VT
VT

)% 2
s 2

4. % I

Question Number : 159 Question Id : 9277597457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a nozzle just entered into the hypersonic stage the pressure ratio is:
Options :

| v 19x107*

> % 18x107*

3 % B3 x10™*

4 % 52x107

Question Number : 159 Question Id : 9277597457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
sfaeafas (hypersonic) =RoT # 33t 31 waer A I I & AT gEF g AT B2

Options :
| v 19x10™*

, % 18x107*
3 % 53x107*

4 % 52x107*

Question Number : 160 Question Id : 9277597458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a. b and c are real numbers then:
Options :

% la+D| = lal + bl

.« la=bl <lal - [bl]
3¢ la—c =la—bl+|b—]

4 % labl = al[b]

Question Number : 160 Question Id : 9277597458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g a, b X ¢ II=aE=+ g&=TC g ar

Options :
1. % la+bl = [a] + Ib]

.« la=bl <lal - [bl]
3¢ la—c =la—bl+|b—]

4 % labl = al[b]

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Discipline4

9
927759269
0

0

No

No

0

20

No

Discipline4

927759295
1

Online
Mandatory
20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759350
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9277597459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mach number for a jet flying at speed 1.8 km/s is (approx):
Options :

| % 5.6

4

h

2.¥

w
¥
N

N

Question Number : 161 Question Id : 9277597459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1.8 km/s Fr 71y & 3z« arer I & BT F+F FEAT (FETIET) FAT 22

Options :
| % 5.6

) 9.4

; % 5.5



4.% 6

Question Number : 162 Question Id : 9277597460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The generalized Fourier coefficient for H(x) is:
Options :

% Co=Vm

.
C_ e
0 T

2. %
T
CG: o
3. v 2
VT
B
4% 02

Question Number : 162 Question Id : 9277597460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H(x) & forT dmAedigd GRAT o 41 g2

Options :

1. ® Cﬂzﬁ



g
o
|
=

2. %
Tt
CD: SR
3. 2
VT
C SR Lk L T
4 % 2 2

Question Number : 163 Question Id : 9277597461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the stability characteristics of a difference equation are analyzed for stability, the amplification factor |G|

should be:
Options :
1. % 0

4.¢ =1

Question Number : 163 Question Id : 9277597461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e 3IT THRIOT Fr TeRar gt & feewor o Far &, O ar & O v9eT s (G
e glar amfge?

Options :
1 % 0

Question Number : 164 Question Id : 9277597462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HoHz)= %.where ¥(z) = (z — a)f(z),f(a) # 0. Then Res f(a) = ?

Options :
0(a)
1 % ()

B (c)
2 v V(@

3 % O(a)¥(a)

4 % O()¥'(a)



Question Number : 164 Question Id : 9277597462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I f(z) =22 T AT Y(2) = (z— a)f(2),f(a) £ 0, AT Res f(a) = ?

wiz)
Options :
B(a)
1. ® ()

B (c)
2 v Y@

3 % O(a)¥(a)

4 % O()¥'(a)

Question Number : 165 Question Id : 9277597463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the WRONG statement.

Options :
| % De Morgan's law says that (A NB)® = A° UB®
, % Complement law says that ANA =0

3 ldentity law says that AN @ = A

4 % ldempotent law says that AnA=A



Question Number : 165 Question Id : 9277597463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tord FU |
Options :

e T ERE F REm AU E F AnB) =AUBC

9w FEE A Ia g F ANA =0

2. % o

o oA T A aa g F Ano=A

, x ¥sgEaie FrA A ala g e AnA=4A

Question Number : 166 Question Id : 9277597464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The complex potential w(z) of a two-dimensional point source centered at z = 0 is given by:

Options :

i1112
1.v 21

i1112
2. *® 21

k

—1
3 W 21T nz



£ 5
yox 2m

Question Number : 166 Question Id : 9277597464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
z=0 97 T ga-amaedr g Fig i Jfee oA ar wz) FesF @ s S 32

Options :

i1112
1.v 21

ilnz
2. 2T

kl
3, & 2’I'I:Ilz

L 4
pow 2m

Question Number : 167 Question Id : 9277597465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The crime scene and forensic evidence contain messages that will lead to the answers the investigators need to solve the crime. By studying
crimes and talking to perpetrators who have committed violent crimes, investigators can learn to apply and solve the equation of Why + How =

Options :
1. * What
2. % When



3. % Who
4. % Now

Question Number : 167 Question Id : 9277597465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SORTY VYT 3R TR 16T T T W= BId € off Siaddisil dI SiRTY &1 i Jasm & o s1awad SRl &1 iR O o g | ORI &1
T HRP R RGP RTY B AT ORI} T ST Hob, Wbl ) + B = (why + how = ) THIHRUT &l AN
BT 3R T BT WG B & |

Options :

1. % &

2. % By

3. DM

4. % 39

Question Number : 168 Question Id : 9277597466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Forensic Anthropology Society of Europe (FASE) was formed in:
Options :

1. ® 1994

2. % 1997

3. 92003

4. % 2007

Question Number : 168 Question Id : 9277597466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRRID TSl JrSet 31t JRIY (FASE) BT T3 S g3l Ul
Options :

1. # 1994

2. %1997



3. %2003
4. % 2007

Question Number : 169 Question Id : 9277597467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The scientific study of bones is known as:
Options :

1. # Morphology

2. ¥ Osteology

3. % Paleontology

4. % Anthropology

Question Number : 169 Question Id : 9277597467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR} BT A ST T Hgardl o2
Options :

1. % 3fipfd fagm=

2. ¢ 3R fagH

3. % Sffared fag=

4. % T fagH

Question Number : 170 Question Id : 9277597468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the third molar crowns are less than half complete, it is virtually certain that the subject is less than:
Options :

1. ® 9yrold

2. % 11 yrold

3. % 12yrold



4. ¥ 14 yrold

Question Number : 170 Question Id : 9277597468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe; T are i o § 1 quf €, ot e @ ffEra @ o oofda frad w0 emg a1 82
Options :

1. % oqy

2. % 1199

3.% 1299

4.9 1499

Question Number : 171 Question Id : 9277597469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the best-known methods of measuring skeletal maturity in children and young adults is by radiological assessment of:
Options :

1. ¥ Hand and wrist bone development

2. % Tibia and fibula development

3. % Skull bones development

4. # Vertebrae development

Question Number : 171 Question Id : 9277597469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sl 3R YT TEb] H heblal bl TRUEH I D1 HIA o Hai e URIG TRIpI HA TP b fafebror famiiig Hediieh =11 5 |
Options :

1. ¢ BTY 3R HaTs P R} & fapr

2. % 3fASITIDT 3R Ffgsifeen! & fabT

3. % U &I Y] & fapTy

4. % HYASDHIA & APy




Question Number : 172 Question Id : 9277597470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Forensic medicine was also termed as state medicine. The term 'state medicine' was recommended by:
Options :

1. # Dr. William Bass

2. % Dr. Joseph bell

3. % Dr. Edmond Lo card

4. ¢ Dr. Stanford Emersion Chaille

Question Number : 172 Question Id : 9277597470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fFeifee 1 Aoty FRifdsedn Hi et ST Ut | MoTeh 14 faforer Wearaet! o1 ARgf fobrch gRT b1 773 i
Options :

1. % g fafergm 9/

2. % SIS dd

3. % Bl USHs A Pl

4. ¥ 3. WAHIS SHIF T

Question Number : 173 Question Id : 9277597471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following courts in India CANNOT pass death sentences?
Options :

1. # Supreme court

2. # High court

3. % Additional sessions judge

4. ¥ Chief judicial magistrate

Question Number : 173 Question Id : 9277597471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YRd #, Fafafed # @ oF 91 ey 5y <8 81 ¢ 9ahdl 82
Options :

1. % ga aay

2. % 3 gATdayg

3. % SffafRad I <

4. ¥ GO I CSMYDRY

Question Number : 174 Question Id : 9277597472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Indian legal system the inquest is held by investigating officer not below the rank of:
Options :

1. # Head constable

2. % Senior head constable

3. # Assistant sub-inspector

4. ® Inspector

Question Number : 174 Question Id : 9277597472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R fafdre gumelt §, Si-usdrd U0 Sia-HfIeR! gRT &1 9dl 8, Sl U | J HH it FTA
Options :

1. % T 3RE] (S Hica)

2.  IRY T 3Ref (TR 88 dHiaa)

3. % gD IUMRIED (IRRCT Fa-3WdR)

4. % Tdee EURY)

Question Number : 175 Question Id : 9277597473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the word Adipocere, "Adipo" stands for:
Options :

1. ¥ Fat

2. % Wax

3. % Soft tissues

4. % Lipid

Question Number : 175 Question Id : 9277597473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TfeuriR (rafie) Tsg & «ufear &1 aar 3 g2
Options :

1.« 4]

2. % A

3. ¥ Hg HdP

4. % BT

Question Number : 176 Question Id : 9277597474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used as buffer in embalming procedure?
Options :

1. # Formalin

2. % Sodium borate

3. ¥ Sodium citrate

4. % Glycerine

Question Number : 176 Question Id : 9277597474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofeifad & 3 feae SuanT Yaau Ufhar # 9t & =0 § forar Sirdr g2



Options :

1. % AT

2. ¢ HifggH dRe
3. % Oifegw Ar5ce
4. % frerERA

Question Number : 177 Question Id : 9277597475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dead body if found under water tied with stone. The average temperature of water was measured 4° C throughout the year. Forensic study
revealed the significant saponification. Then the body must be under water at least for:

Options :

1. # 6-8 months
2. ¥ 12-18 months
3. # 22-26 months
4. ¥ 29-33 months

Question Number : 177 Question Id : 9277597475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS BIs T T P e TR I §T TR 1T 8 | IR IS YT &7 SR dTad1 4° € AT 77| =1 S0 o Hedqu] AT 101 BT Ul
T | I ]G YT & e HH Y HH 3{qRY Tg1 g1 AU

Options :

1. ¥ 6-8 Hlg

2.+ 12-18 H1g

3. % 222618

4. % 2933118

Question Number : 178 Question Id : 9277597476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a lung damaging agent?



Options :

1. ¥ Phosgene
2. % Tabun

3. % Norbromide

4. % Bromoxynil

Question Number : 178 Question Id : 9277597476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed # § 19 s ! THUH Ugam arar el 82
Options :

1. ¢ BI%iA

2. % dig-

3. % oS

4. % SIS

Question Number : 179 Question Id : 9277597477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Drugs and Cosmetics Act was amended in to include Ayurveda and Unani drugs.
Options :

1. % 1940

2. % 1962

3. ¥ 1964

4, % 1978

Question Number : 179 Question Id : 9277597477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TAE SR AT TaTefl B AMHS HRA & ol e SR gme wrut sifefad o T Trenferd foram mmam ol

Options :



1. * 1940
2. % 1962
3. ¥ 1964
4. % 1978

Question Number : 180 Question Id : 9277597478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The punishment for causing hurt by means of poison or any stupefying, intoxicating or unwholesome drug or other thing with the intent to
commit an offence is dealt under:

Options :

1. # Section 176 of IPC
2. % Section 202 of IPC
3. % Section 271 of IPC
4. ¥ Section 328 of IPC

Question Number : 180 Question Id : 9277597478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIs IRTY H &b ¢ I A9 A7 foreit ATg e, =M 1 SRATRASHR MufY 1 fhdl 30 a¥g GRT 81 Ugd & fa9g 48 & HRaATs
& 3fdifd B SR B

Options :

1. % IPC B URT 176
2. % [PC D YRT 202
3. % [PC DI YRT 271
4. ¥ IPC B URT 328
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Question Number : 181 Question Id : 9277597479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indian lunacy act was placed in 1912. It was amended to mental health act in:
Options :

1. # 1937

2. % 1956

3. % 1987

4. % 1983



Question Number : 181 Question Id : 9277597479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR URTIO ST 1912 H SH—1 71 UT| 38 AR WA s § o Y=iferd fobar
Options :

1. * 1937

2. % 1956

3.9 1987

4. % 1983

Question Number : 182 Question Id : 9277597480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pinfire system was introduced at Great Exhibition in London in
Options :

1. % 1820

2. % 1851

3. % 1933

4. % 1947

Question Number : 182 Question Id : 9277597480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fO-TATER JUITeR! T SR dia | U< Taitai= H S fobar 7am Ut
Options :

1. % 1820

2.9 1851

3. % 1933

4. % 1947

Question Number : 183 Question Id : 9277597481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The usual fatal dose for a drug is given as 65 mg/kg then its toxicity rating is:
Options :

1. # Extremely toxic

2. % Moderately toxic

3. % Very toxic

4. % Super toxic

Question Number : 183 Question Id : 9277597481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forft SfufY & fore T U1 WRIH 65 me/kg b FU | & ST ©, Al ST fANTGdT SIHAI (rating) T B2
Options :

1. % 3ffdeh faeTed

2. % [y fauTed

3. ¢ 3 faured

4. % 3ffd fawred

Question Number : 184 Question Id : 9277597482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a bullet is designed such that it has diameter 0.625 inches and length 6.35 cm. The rate of twist for the firearm by which it would be fired is
(approx):
Options :

1. # 17 inch
2. % 23 inch
3. % 31 inch
4. # 43 inch

Question Number : 184 Question Id : 9277597482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g TP Tiie 39 TR fSHIIS &1 ST § fob ST & 0.625 IN (3) 3R TS 6.35 cm 811 I AR & (o0 AT SHTHAID (TETHT)
o g fS I gRT 38 ST ST 82

Options :

1. % 171N (39)
2. ¥ 23 IN (39)
3. % 31N (39)
4. % 43 IN (39)

Question Number : 185 Question Id : 9277597483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wength of Radlus X 100. Then it is:

An index related to bone is calculated using the formula.

Length of Humerus
Options :
1. ¥ Brachial index
2. % Crural index
3. ¥ Humero-Femoral index
4. ® Cephalic index

Question Number : 185 Question Id : 9277597483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

;‘I:PEI' ¥ HElUd Heleheh @l 30Tl ﬁ;::;ﬁﬁ X 100 §F F 3TART FIF 0 A1l g1 af Tg G &40
Options :

1. ¢ dIg JAbih

2. % JYHNT YAbIh

3. % TIfSH-SHdDT YadhidH

4. % RRY i




Question Number : 186 Question Id : 9277597484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Weapon in which the ammunition is inserted into the rear of the barrel is called:
Options :

1. % Revolver

2. % Breech loader

3. % Rimfire

4, % Muzzle loader

Question Number : 186 Question Id : 9277597484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 AR o ORa & fUsd R o Mia SReg STel offdT 8, 31 Haldl 67
Options :

1. % fRafear

2. ¢ dfl9 deR

3. % RABRR

4. % TS ST

Question Number : 187 Question Id : 9277597485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are only four possible blood types A, B, AB, and O. The vast majority of people in any population have two of these types which are:
Options :

1.¥ Aand O

2. % Aand B

3. % ABand O

4. % Band AB

Question Number : 187 Question Id : 9277597485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A 3RO

2. % A3RB

3. % AB 3RO

4. % B3R AB

Question Number : 188 Question Id : 9277597486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of digesting carbohydrates in the diet begins in the oral cavity. An enzyme from saliva catalyzes the “breakdown” of carbohydrates.
The enzyme is:

Options :

1. ¥ Amylase
2. # Chitinase
3. # Maltase
4. ® Lysozyme

Question Number : 188 Question Id : 9277597486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ THRA

2. % DI

3. % Ao

4. % WAISONTEH




Question Number : 189 Question Id : 9277597487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The internet's first online serial killer is known as:
Options :

1. # The Hurt Locker

2. ¥ Slave master

3. # Jack the Ripper

4. % Ted Bundy

Question Number : 189 Question Id : 9277597487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT BT UgAl Sfi-ame- WiRad foreR o | & ST ST 82
Options :

1. % TgC AP

2. ¢ Wid AR

3. % 9% g R

4. % TS

Question Number : 190 Question Id : 9277597488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The active principle in Indian liquorice is:
Options :

1. # Crotin

2. # Ricin

3. % Abrin

4. ¥ Pulchellin

Question Number : 190 Question Id : 9277597488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YReTg garat (fae ) & afora fafkiy a@ | g?
Options :

1. % spifed

2. % R

3. ¢ UsH

4. % gordfer

Question Number : 191 Question Id : 9277597489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ammunition which is same as bulleted ammunition except for the omission of the missile is known as:
Options :

1. % Rimfire ammunition

2. % Centre fire ammunition

3. # (Caseless ammunition

4. % Blank ammunition

Question Number : 191 Question Id : 9277597489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 el IReg ol FRTgd & I & MfaRad Tl & TMial aRea & 90 gidl 6, [ =0 & ST St 82
Options :

1. % RABRR MeeReg

2. % X BIR MAER~G

3. % Oy MR

4. ¢ P MATEREG

Question Number : 192 Question Id : 9277597490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given figure shows mechanism for modern revolvers. Then letter 'A’ represents:
Options :

1. ¥ Crane

2. % Ratchet

3. # Sling swivel

4. # Swinging link

Question Number : 192 Question Id : 9277597490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 5 AP ATYTs NaTeax HT IF [T & g g1 AW A’ FAT g2 g2
Options :

1. ¢ o

2. % e

3. % & Rgaa

4. % TR fofep

Question Number : 193 Question Id : 9277597491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Macintosh 128 k was introduced in:
Options :

1. % 1978

2.9 1984

3. % 1988

4. % 1991

Question Number : 193 Question Id : 9277597491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AfHEI 128 k BT Y Ha g3 U2
Options :

1. % 1978

2.9 1984

3. % 1988

4. % 1991

Question Number : 194 Question Id : 9277597492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following chemical is used for identifying the amplified PCR products?
Options :

1. ¥ Ethidium bromide

2. % Hydroxymethyl

3. # Jodine monochloride

4. % Sodium tetraborate

Question Number : 194 Question Id : 9277597492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gafefd 0. 3R, (PCR) ITG! B Uga & foru Fgfeiad 7 ¥ foow Tama= &1 IuanT foear o g2
Options :

1. ¢ Tfifsaq siarss

2. % gISSIRTITSd

3. % 3l HHIGARISS

4. % QIfggy <erERe

Question Number : 195 Question Id : 9277597493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lead sulphide is used in:

Options :

1. ¥ Collyrium for the eyes

2. # In local sedative for sprains

3. % Manufacture of paints

4. % Abortifacient

Question Number : 195 Question Id : 9277597493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS AehI3S BT JANT [hard fopaT ST 82
Options :

1. ¢ 3irEl o forg gRa

2. % U9 H R D

3. % U o1 fAmiur

4. % MRS

Question Number : 196 Question Id : 9277597494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The preservative used to preserve urine sample is:



Options :

1. ¥ Sodium fluoride
2. # Saturated saline
3. % Potassium oxalate
4. #* Eosin

Question Number : 196 Question Id : 9277597494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 T ) TR R 3 R e R e a1 22
Options :

1. ¥ HISTH RIRSS

2. % GJud dquity

3. % Uiy sidwdce

4. % gONRA

Question Number : 197 Question Id : 9277597495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was designed for offline message access and works the best when one has only a single computer?
Options :

1. # IMAP

2. ¥ POP

3. % TCP

4. % DNS

Question Number : 197 Question Id : 9277597495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaﬁvr@aﬁ@r P T ST G TRY & o fEHTE faan T 3R 98 Tad 3es1 &TH HRdT § ofd [l & UM $had U ol e
?

Options :




1. % IMAP
2. % POP
3. % TCP
4. % DNS

Question Number : 198 Question Id : 9277597496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The lunch box used in traditional phreaking tools was meant for:
Options :

1. # External microphone

2. ®* Creates a party line

3. ¥ AM transmitter

4. % Taps into a neighbor’s phone

Question Number : 198 Question Id : 9277597496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URYRSD i1 IUDHRUN H G I dTell ©id ST fohdb forg um
Options :

1. % TRl HIgShI I

2. % TTct e At

3. ¥ TUH. TiHieR

4. % USRI G BHE T CY

Question Number : 199 Question Id : 9277597497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following DOESN'T turn blue litmus red?
Options :

1. ¥ Oxalic acid



2. % Carbolic acid
3. #* Formic acid
4. % Malic acid

Question Number : 199 Question Id : 9277597497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafea & & foras e forem o =18t g 82
Options :

1. % 3fifcres 3wl

2. ¥ BSifeid 3w

3. % ThifHp 3

4. % AP 3

Question Number : 200 Question Id : 9277597498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reports of certain government scientific experts are usually admitted in the court as evidence without their oral examination. It is admitted under
section:

Options :

1. % 293(1) CrPC
2. % 293(2) CrPC
3. % 293(3) CrPC
4. % 291 CrPC

Question Number : 200 Question Id : 9277597498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 293(1) CrPC




2. % 293(2) CrPC
3. % 293(3) CrPC
4. % 291 CrPC



